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General Instructions

Do not open this question booklet until you are
asked to do so.

Immediately after the commencement of the
examination, check that the test booklet does not
have any unprinted /torn/missing pages or items.
If so, get it replaced by a new test booklet.

This Test Booklet contains 150 items (questions).
Each item is printed both in Hindi and English.
Q. No. 1 to 100 are from General Studies and
Q. No 101 to 150 are from Aptitude. All
questions carry equal marks.

Each item comprises four responses (options).
Select the response which you want to mark on
the OMR Sheet. In case you feel that there is more
than one correct response, mark the response
which you consider the best. In any case, choose
ONLY ONE response for each question.

Mark your answers in the separate OMR sheet
provided. Fill up the respective circle in OMR
sheet completely by black ball pen.

There will be penalty of 1/3rd marks assigned to
that question for wrong answers marked by the
candidate.

Calculator, mobile phone, or other electronic
gadgets are not allowed in examination hall.

Do not leave the examination hall without
permission of the invigilator before time.

Cheating of any kind will disqualify the applicant
immediately from this test.

In case of difference in interpretation of a question
in Hindi and English, English version will be
treated as final.

You have to write the essay on two topics out of
four topics given at the last page of this booklet
which carry 50 marks.

Please handover the OMR along with this question
booklet to the invigilator after time is over.
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1. What is the primary objective of including

the feature of Separation of Power in the

Constitution of India?

(@) To help judiciary in providing complete
justice to the weaker sections of the
society.

(b) Division of Labor and Functional
specialization of tasks.

(c) Checks and Balances to prevent the
misuse of power.

(d) Swift decision making by limiting the
encroachment of powers between the
branches of the government.

. Indian Constitution is called a living

document because

1. Indian Constitution is open to changes
as per the changing needs of society.

2. The constitution provides enough
flexibility of interpretation for both the
political class and the Judiciary.

Select the correct answer using the code

given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

. Which of the following statements is/are
correct regarding the Objective
Resolution?

1. It provided for the establishment of
socialist, secular, Independent,
sovereign, republic of India.

2. It provided to make contributions to
promote world peace.

3. It provided the freedom of speech,
expression and association to the
people of India.

4. Territory of India shall comprise of
British India, Indian States and
territories which are outside India but
willing to join India.

Select the correct answer using the code

given below:

(@) 1, 2 and 3 only

(b) 3 and 4 only

(c) 2, 3 and 4 only

(d) 4 only

4. With reference to the Parliament's power

to reorganize the states, consider the

following statements:

1. The Parliament cannot alter the areas
or names of the existing states without
their consent.
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2. The territorial integrity of the states in
India is guaranteed under Article 3 of
the Constitution.

3. Indian territory can be ceded to a
foreign state only by amending the
Constitution under Article 368.

4. Settlement of a boundary dispute
between India and another country
does not require a Constitutional
amendment.

Which of the statements given above are

correct?

(@) 1 and 2 only

(b) 3 and 4 only

(c) 1, 3 and 4 only

(d) 2, 3 and 4 only

. Consider the following pairs:

Judgment Decision/Ruling
1. Kesavananda The Preamble is a part
Bharati of the constitution.
2. Golaknath Fundamental Rights
can be amended under
Article 368.
3. Shankari Constitutional
Prasad Amendment is not a
law under Article 13.
Which of the pairs given above is/ are not
correctly matched?
(@) 2 only
(b) 1 and 3 only
(c) 2 and 3 only
(d) 1,2, and 3

. Which of the following are the rights given

to the Forest Dwelling Scheduled Tribes

(FDST) and Other Traditional Forest

Dwellers (OTFD) under the Forest Rights

Act, 2006?

1. Right to ownership of land subject to
the maximum limit of 40 hectares.

2. Right to use the forest for extracting
Minor Forest Produce.

3. Right to rehabilitation in case of illegal
eviction.

4. Right to conserve community forest
resource.

Select the correct answer using the code

given below:

(@) 1 and 2 only

(b) 1, 2 and 3 only

(c) 2, 3 and 4 only

(d) 1,2,3 and 4
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7. Consider the following statements with

reference to contempt of court:

1. Only supreme court and high courts
have power to punish for the contempt
of court.

2. Attorney General's consent is
mandatory when a private citizen
wants to initiate a contempt of court
case against a person.

3. Contempt proceedings must be
initiated within one year from the date
on which contempt is alleged to have
been committed.

Which of the statements given above

is/are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 2 only

(d) 1,2 and 3

. With reference to the Council of Ministers,

consider the following statements:

1. The 44th Constitutional Amendment
Act, 1978 provided that the President
is constitutionally obliged to act
according to the advice of the Council
of Ministers headed by the Prime
Minister.

2. The Constitution of India requires
every order of the President for a public
act to be countersigned by a minister.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

. With reference to ‘Presidential Elections
in India’, consider the following
statements:

1. The nominated members of the state
legislative assemblies do not
participate in the election of the
President.

2. No President in Independent India has
ever been elected unopposed.

3. All doubts and disputes in connection
with the election of the President are
inquired into by the Election
Commission of India.

4. In Presidential elections, a voter can
indicate his preference for more than
one candidate.

Which of the statements given above

is/are correct?

(@) 1 and 4 only

(b) 2 and 3 only
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(c) 1 only
(d) 1, 2 and 4 only

The constitution of India mandates
which of the following states to have a
separate Minister in charge of Tribal
Affairs?

Chhattisgarh
Jharkhand

Bihar

Odisha
Maharashtra

. Madhya Pradesh
Select the correct answer using the code
given below.

(@) 1,2, 4 and 6 only
(b) 1, 3, 4 and S only
(c) 2, 3 and 6 only
(d) 1, 4 and S only

ARl ol s

With reference to the provisions related
to Preventive Detention in India, consider
the following statements:

1. An arrest under Preventive detention
can be made in order to counter
ordinary law and order situations.

2. Protection against preventive detention
provided wunder Part III of the
Constitution is not available to non-
citizens.

3. The accused may be detained without
being produced before a magistrate for
a maximum of three months.

Which of the statements given above is/

are correct?

(@) 1 and 2 only

(b) 1 and 3 only

(c) 3 only

(d) 1,2 and 3

Which of the following criteria needs to
be met by a political party to be
recognised as a national party under the
Election Symbols (Reservation and
Allotment) Order, 1968?

(a) If it gets six percent valid votes in the
legislative assembly elections in four or
more states and 4 seats in the Lok
Sabha polls.

(b) If it secures eight percent of valid votes
in the Lok Sabha polls irrespective of
number of seats it wins.

(c) If it secures two per cent of the total
number of seats in the Lok Sabha at a
general election and the candidates are
elected from at least six states.

(d) If it is recognised as state party in two
or more states.
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13. Consider the following pairs: 17.

Books Author
1. Some Economic G Subramania
Aspects of British ~ Iyer
Rule in India

2. The Poverty  Prithwis
Problem in India Chandra Ray
3. Economic Gopal Krishna

History of India Gokhale
Which of the pairs given above is/are
correctly matched?

(@) 1 and 2 only
(b) 2 only

(c) 3 only 18.

(d) 1,2 and 3

14. The Weddell Sea, recently seen in the
news, is located in which of the
following regions?

(a) Eastern Indian Ocean
(b) Western Pacific

(c) Arctic

(d) Antarctica

15. Which of the following countries share

land borders with Russia?
1. Sweden

2. Kazakhstan

3. Turkey

4. Uzbekistan

5. North Korea 19.

Select the correct answer using the
code given below:

(@) 2, 3 and S only

(b) 2 and 3 only

() 1,4 and 5 only

(d) 2 and S only

16. Which of the following conditions
is/are considered as best suited for
Delta Formation?

1. Presence of large lakes in river

course. 20.

2. Availability of strong currents at
right angle to the river mouth.

3. Active vertical and lateral erosion in
upper course of river.

4. Sea adjoining the delta should be
shallow.

Select the correct option from the code

given below.

(@) 1,2 and 3 only

(b) 3 only

(c) 3 and 4 only

(d) 1,2, 3and 4
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"Relatively undisturbed by the crustal
movements of the earth, formed by
horizontally bedded rocks. These
depressed areas make up some of the
most extensive natural lowlands on
earth“s surface."

The statement given above describes
best which of the following?

(a) Peneplain

(b) Pediplain

(c) Structural plain

(d) Coastal plain

Consider the following statements with
respect to temperature distribution in
the oceans:

1. The temperature decreases at a
uniform rate with increasing oceanic
depth.

2. The oceans in the northern
hemisphere record relatively higher
temperatures than in the southern
hemisphere.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following pairs:

Crop Climatic region
1. Sugarcane Temperate grasslands
2. Olive Mediterranean
3. Cocoa Equatorial region

Which of the pairs given above is/are
correctly matched?

(@) 1 and 2 only

(b) 2 and 3 only

(c) 3 only

(d) 2 only

With reference to local winds and
regions of their occurrence, consider the
following pairs:

Wind Region
1. Khamsin Egypt
2. Brickfielder Australia
3. Bora South America
4. Mistral North America

How many of the above given pairs are
correctly matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All the four pairs
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22.

23.

24.

With reference to the islands of India,
consider the following pairs:

Island Location
1.Kiltan Island Lakshadweep
2.Ghoramara Island Gulf of Mannar
3.Pirotan Island Gulf of Kutch

4.Baratang Island Konkan coast
How many of the above given pairs are
correctly matched?

(a) Only one pair

(b)Only two pairs

(c) Only three pairs

(d)All the four pairs

With reference to Narmada, Tapi and
Mahi Rivers, consider the following
statements:

1. Narmada and Tapi rivers flow south

of Satpura ranges.

2. All the three rivers originate from
Amarkantak plateau in
Chhattisgarh.

3. Tapi runs only through two states
to drain into Arabian Sea.

Which of the above-mentioned
statements is/are correct?

(@) 1 and 2 only

(b) 3 only

(¢) 1 and 3 only

(d) None of the above

Consider the following pairs

Soil Colors Indication
1. Grey Soil High levels of silver
bromide

2. White soil  Leaching of iron and
manganese particles
Presence of Iron
oxides and organic
content

How many of the above given pairs are
correctly matched?

(@) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) None of the above

3. Brown soil

With reference to the distribution of the
mineral resources in India, consider
the following statements.
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25.

26.

1. The largest reserves of gold ores in
India are located in Bihar.

2. Rajasthan has the largest reserves
of silver ores in India.

3. The largest reserves of diamond
ores in India are located in Bhadra
Wildlife Sanctuary of Karnataka

Which of the statements given above
is/are correct?

(@)1 and 2 only

(b)2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3

With reference to Aravali Mountains,

consider the following statements:

1. These are the oldest block
mountain in India.

2. They are present in Gujarat,
Rajasthan, and Delhi.

3. They act as a water divide between
the Indus and Ganga river systems.

Which of the statements given above

are correct?

(@) 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d 1,2 and 3

With reference to hydroelectric power
in India, consider the following
statements:

1. India is the second largest producer

of hydroelectric power in the world.

2. Bhakra Hydroelectric Project is
India’s largest hydroelectric power
plant.

3. As per the new hydroelectric policy,
only smaller projects of less than 25
MW capacity were categorised as
renewable energy.

Which of the statements given above
is/are not correct?

(@) 1 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3
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1. 9T ST qrdt 9"t gaqEr qaqqrdr &
zferor & Tt 8

2. diFl Afeat FAEE F AWTHSE B |
IBEEEIE

3. ATHr 9a AN § [ & 98T Fad af At
H & Zr [Tl gl

SR FAAT § T I AT TR /2P

() FaeT 187 2

(b) & 3

(c) Faer 1317 3

(d) IULITE H T FE AT

Refertea o o f=Emr i

g Far GET
1. ¥/=d Wt feaw ammes 1 3g
qTT
AT T HIIST o6 FOTT 7
IGEIEE]
AT AFETEE R

3. i1 gt

Sfaeh areft i safRefy
o R ot § ¥ frae e g qafea 82
(a) Faer TF SIS
PDEEEEUEIE
CEEEKIEEIS
(d) 3T & F7E off T

2. g fagr

24, WG U G g9rgEl & faaew F ded o

et a1 o2 = #2
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25.

26.

1. ATET § FI9 F AT T qa8 T2T e g
H srafead gl

2. TSTEATH § 9T § AT F STAThT AT T T2T
A 2

3. WTET # EI¥ F 37T T qa JT WS FATH
F AT TS AT § 7o g

ST QU U FAAT W T FiT q/EH qGT 8/8?

(a) Fa 1 3% 2

(b) Fa< 2 3T 3

(c) FaeT 13T 3

(d) 1,237 3

AT Taq H@aT & qaw §, FEteted wuei

T fa=m fifem:

1. g AT | 9 ITHIA (% 994 gl

2. I [, TSTEAT 3T faeett 7 srafeera 2

3. ug THe < T A<y q & = 9 rATS®
*F =T H FHT FAT g

I<h FAAT H F HIF-T Tl 8?

(a) FaeT 1 3% 2

(b) Fae 2 3T 3

(c) FaeT 137 3

(d) 1,233

ad # sefaea oafte F gad #, Fwtafeg

Fot ae A= fifer:

1. 9q g § Sofaea e &1 g 999
FET ICATEH 39T &

2. WTEEST SATG=A TRATSET, AT &l a4
T Srerferera TR 2

3. % VAfa=q AT & AqER, FAA 25
TWTETE & FH AAAT JTAr O oI f&ea
TRATSHTSH T g FhFeoiT S F =9 §
i FoFaT STTaT 2

S FAAT § F FHIF-E1/H Tl Al e/

(a) Fa 1

(b) & 2 3T 3

(c) Fae 13T 3

(d 1,233




27.

28.

29.

Consider the following pairs:

Schemes Objectives
1.Net To receive energy credit
metering by feeding excess solar
policy power generated from
solar panels to grid
2. KUSUM Encourage farmers to
generate income by
selling surplus power to
the grid
3. SRISTI Incentivise installation
Scheme of rooftop solar power
plant
4. Atal luminate dark regions
Jyoti through establishment
Yojana of solar street lights

How many pairs given above are
correctly matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

Consider the following statements
regarding Ramanujan Prize in the field
of mathematics:

1. It is awarded by the University of
Cambridge in the memory of
Srinivasa Ramanujan.

2. No woman has been awarded this
prize till now.

3. The prize is awarded to a
researcher from a developing
country.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 3 only

(c) 1 and 2 only

(d) 1,2 and 3

Consider the following statements
regarding the SMILE scheme:

1. SMILE scheme is for the
rehabilitation of marginalized
individuals.

2. It provides housing facilities and
skill development.

3. It has a provision of Transgender
Protection Cell under the District
Magistrate.

Which of the statements given above

is/are correct?

(@) 1 and 2 only

(b) 3 only

(c) 1,2 and 3

(d) 2 and 3 only

JATF CET — 2023

30.

31.

32.

Which among the given sets of
international groupings, has both India
and Bangladesh as member countries?

(a) SAARC, G20 and Shanghai
Cooperation Organization (SCO)

(b) BIMSTEC, Organization for
Economic Cooperation and
Development (OECD) and G20

(c) Asian Infrastructure and Investment
Bank (AIIB), New Development Bank
(NDB) and  Organization for
Economic Cooperation and
Development (OECD)

(d) International Solar Alliance (ISA),
New Development Bank (NDB) and
Indian Ocean Rim Association

(IORA)

With reference to human body, which
one of the following statements
correctly explains the term Tmmune
Imprinting™?

(@) It is the process of artificially
increasing the strength of the
immune system by repeated

exposure to pathogens.

(b) It is the process by which the
immune system loses its ability to
recognize and respond to antigens
over time.

(c) It is a tendency of the body to repeat
its immune response based on the
first variant it encountered through
infection or vaccination.

(d) It is a mechanism of selectively
removing specific immune cells from
the body to reduce the risk of

disease.

The cases of Monkeypox recently have

been confirmed, with Europe being the

worst affected. In this context, which of
the following statements is correct
about the monkeypox?

(a) A person with Monkeypox remains
infectious for life even after
treatment.

(b) Sexual activity is the sole mode of its
transmission.

(c) Anyone can get or pass on
Monkeypox including rodents and
primates.

(d) It is caused by the same Variola

virus which causes smallpox.
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27.

28.

29.

o o oo

e ot a¥ fa=me fifm:

ST I

1. 92 Heftv & §9di & Iooer sAfge
Hifa T et & e § a9

AT S ITH HTAT

e T srfarery fEeE a=

AT oI & forw et r

TIeATRd AT

TR AL ITGL T

TR % oI Treatad wear

HT e AqmEe WA

e <fea &= &1 e

fTAT
S T § e wEr qafera 22
(a) et T T
(b) et &1 79
(c) Fae A1 T
(d) Tft =

2. T
(KUSUM)

3. gt
(SRISTI)
IATSAT

4. e SO
IATSAT

T % & H THSH e & §ed ¥,

Referiad Fwoet 97 o= St

1. a8 ifFeam e &t Jfd § i
ECIECIEE AR ECRE RIS IS

2. TH LERT H AHT T Fohelt AIGAT ol FFATIa
Tl AT T 2

3. I TERTT Rt TashTersfier <91 & U orveshal
T W& (T S1aT gl

SUAE FAAT H F FHIA-H1/E Tl efe?

(a) Fa 1

(b) &= 3

(c) FaeT 1 3T 2

(d) 1,23 3

TS AT & gaw §, Fefofug faa @
[EEIREIE Lt

1. THTEA AT df=d AR & qAaTd & oy
L

2. AT AEH AU T HIqA @wE J=&=
FLAT 2l

3. zaH et F e giosies qear Ty
T ITFLTH 2

SUAH FAAT § F HIA-A1/H qLT 28?2

(a) Fae 1 3T 2

(b) Fa« 3

(c) 1,2 3% 3

(d) F=er 2 37 3
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30.

31.

32.

HALTEIT TAT o 2w 10 a9z # 7 e s

T FRATILT TAT TSET 39T 8

(a) ATH (&), ST -20 T AT AN TA
(SCO)

(b) fovmes®, sfds @gan i fawm "o
(OECD) 3T Sft -20

(c) T SThTEEaaT UE 2aeeHe a9 (AIIB), =T
TaAIHe g% (NDB) 3T SIS T
TRMITHE RIAILOT U TqaqHe (OECD)

(d) AL EX Tae (ISA), 7 TaaTHe 95
(NDB) 3fi¥ feaw siforw R uaifoe=
(IORA)

AE oY F "ad #, Fwforfaa & & w9 ar

FAT T SIEITET 916 il Ol ATEAT HIAT §?

(a) TE TSI & FTL-A 9 & AT F F=H
Y T TTACAT TOITeAT T qTehe T@Te it Tferam
2l

(b) 7g a8 ghHaT g o gy gfaeer yorrett
THT o AT TTASH 1 &l TgaTdd 3T FTafhar
o T S HAT G ST Bl

(c) T TFHHIT AT EFHTHTU & HTLTH F ATHAT FhU
TT I8l HERLUT & AT 9G¥ TIAT Tfaeear
st 1 e di o7 i yghr 2

(d) =g AT F STEH T FH FT & (0 07
T fafere gfawer Frfererst v g =7 &

ZETH &1 T o g

BT &Y H, WA % wraet O gt 8, T

T qaH ATIF g g 21 9 HeW H,

TR F "etea Meferferd Fuet §  fe-ar

T 8?

(a) wehMiFE ¥ Nfeq =h ST & qE AT
Sfrae ¥ " 2T 2

(b) == wffafer Taeh =TT T THATT TLIH
L

(c) Feaei T YTSHe Afd Hrs ot HhiaiFa
HHHT BT ThaT & AT SR T FHT ThaT
L

(d) =g IHT ATEET ML F FHLOT AT g,
S == grar gl
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33. With reference to the share and growth 3. Denatured Ethyl alcohol used in the
of various sub-sectors under Industrial chemical industry will be exempted
sector, select the correct option from the from basic custom duties.
code given below? Which of the statements given above
(a) Manufacturing gross value added is/are correct?

(GVA) contributes more than 50 per (@) 1 only
cent to industrial GVA. (b) 2 and 3 only

(b) Mining subsector has seen the lowest (c) 2 only
Real GVA growth among subsectors (d) 1,2 and 3
in Financial Year 2022-23.

(c) There is a-negative growth rate for the 37. Union Budget 2023-24 is the first
Construction subsector in the year budeet of the ‘Amrit Kaal hich
5023 udget o e mri aal’, whic

(d) Electricity Sub-sector saw the envisions - an empowered .and an

i inclusive economy. To achieve this
highest real GYA growth among all vision, which of the following are the
the subsector in the year 2023. ‘transformative opportunities’ as

specifically identified in the Union

34. Recently, the term ‘Financial Contagion’ Budget?
appeared in Economic Survey 2022-23. 1. Economic empowerment of farmers.
In the given context, which of the 2. PM Vishwakarma Kaushal Samman
following statements best describes the (PM VIKAS)
term? 3. Economic empowerment of women
(a) It refers to negative impact of the 4. Tourism

banking sector issues on the overall 5. Planned urbanization
economy. 6. Green growth

(b) It refers to the solutions provided for Choose the correct answer from the
the recovery of economy from codes given below:
Recession. (@) 1, 2, 4 and 6 only

(c) It is a disturbance in the banking (b) 1, 3, 5 and 6 only
system caused by cyber-attack. (c) 2, 3, 4 and 6 only

(d) It is the spread of financial instability (d) 1, 2, 3 and 4 only
from one market or country to
another. . . . .

38. Which of the following pair of countries

35. With reference to the Union Budget have been in news for dispute over the
2023-24, arrange the following items in Aegean Sea recently?
the increasing order of their share in (a) Italy and Greece
total budgetary expenditure: (b) Albania and Bulgaria
1. Food Sub31dy (C) Italy and Turkey
2. Interest Expenditure (d) Turkey and Greece
3. Defence Expenditure
4. Fertilizers Subsidy 39. Consider the following statements with
5. Railways reference to the Commonwealth Games

Which of the option given below is
correct?

2022:
1. Countries outside the Commonwealth

(a) 1-4-5-3-2 are not invited to take part in these
(b) 4-1-3-5-2 games.
(c) 4-1-5-3-2 2. 3x3 Basketball, Women'’s T20 Cricket,
(d) 1-4-3-2-5 and Para Table Tennis were included
in this edition of the games.
36. Consider the following statements Which of the statements given above

regarding new tax reforms proposed at

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Union Budget 2023-24:

1. The new income tax regime to be
made a default tax regime from 2023.

2. Payments received by Agniveers
under Agneepath Scheme will be
exempted from income tax.

JATF CET — 2023 12



33.

34.

35.

dqENfeR & F oaia Afve ST A

RERr v gig F ¥ed §, fe Rumuw Fe &

gt e &1 77T w2

(a) TR T qoF 49 (GVA) FT SR
GVA ¥ 50 wfdrera & s7fars e 2

(b) fa= T 2022-23 ¥ GF7 IT-F § IT-&AT
F = qa FH qEAEAE ST Jlag <@t T
2l

(c) T 2023 ¥ AHT IT-a * forw FamercT®
IEEDE: Reaa

(d) o= ST-e1= 7 a9 2023 # T+t IT-g =1 H
Igaw ardata® GVA Iig 3@

T B W, SdE g 2022-23 § AT

gHEgur gex fa@rs foam fRw o "9 9,

Refed & & i 9T FA7 9053 7 999 T=a7

U AT ?

(a) T8 THYT FAFFEAT T ST & & TEl .
THTHF THTT Fl a9 Har gl

(b) Tg HAT & FAATEAT hl qGAT & [oI0 FaTT
R0 7T FHTETET T /I AT et gl

(C) T ATSAT THA % HTLUT & FohaT JOTTAT H TEAET
|

(d)ggwmtvrr{m%{ﬂ@r@%wﬁﬁ?ﬁﬂ
ATEATAT T TH Bl

FATT Foie 2023-24 F Tad #, Feferfaa aat
T FA TSI AT | 3% ged & J8d w7 §
IR FL:

1. @Ter Afeasy

2. =TS =T

3. TETAT

4. 3% Ofeqsy

5. Y9
ﬁ%%qwﬁwﬁﬁﬁaﬁ?ma@%?

o
»—-.h-h»—-
-br—w—'-b
00010001

-3-2
-5-2
-3-2
-2-5

36. T aSe 2023-24 F TEATET AU FT AT

Heg 7 Feferie Faei o fF=r w1
1. 2 SAFT AT H 2023 F BHie FT
SAFELT AT STUATI

2. AT FSMT F qgd AU FRT ITH
SITAT AT | {h g
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37.

38.

39.

3. TEMEEE N | ITTRT 0 ST arer faspa
U STehigel il ATl AT ok & e o
ST

S U T FAAT | AT q0/E q2y g/e?

(a) Fa 1

(b) Fae 2 3T 3

(c) FeeT 2

(d) 1,23

FAT Fole 2023-24 T FA' FT TgAT ToIe
g, ST Ueh F9rh 31T qTaeft srefeaea T Y Fea
FLAT | TH 3P & ITH F34 & o0, F17 Fefe
# 9w =7 ¥ g9 T qRaadait dqaa]
Aot & & i 7 5?

el 7 sl Ferfeheneon|

o fEreasat wtere are (o )
HIGATSA T ATFAF FerfRraraor

T

[ERUNEEIEA T

6. BT IfE

= {3 10 et ° | "t 39 -

(@) Faa 1, 2,437 6

(b) Faw 1, 3, 53T 6

(c) a2, 3,437 6

(d) F¥a 1, 2, 33T 4

kb=

Aot & & 9 97 397 21 8 § Uioras 9me
o< foare & o et # wre?

(a) ZZt e M

(b) STEATIHAT Si¥ FeTTear

(c) Tt i T

(d) T <l A

TgHEA T 2022 F Ha9 H, Fwforfaa waet

T fo=me fifsm:

1. YTgHSA % IT8Y o Q9T &l 9 Tl § 9T o
* ToIT = Jgl T STraT gl

2. Gl F TH HERLOT § 3x3 ATEReAd, AIgHl
Z1-20 Tohehe 3T IXT eaet i T aTieet 6T
AT AT

SUAE FAAT § F HIA-A1/T T B/E?

(a) Fae 1

(b) Fa 2

(c) 1 3f¥ 2 =Mt

(d) TaT1,TEr2
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40.

41.

42.

43.

Which of the following types of batteries
are covered under Battery Waste
Management Rules, 20227?

1. Electric Vehicle Batteries

2. Portable Batteries

3. Automotive Batteries and

4. Industrial Batteries

Select the correct answer using the code
given below.

(@) 1, 2, and 3 only

(b) 2 and 4 only

(¢) 1, 3, and 4 only

(d) 1,2,3and 4

With reference to, “Pradhan Mantri

Annadata Aay Sanrakshan Abhiyan”

(PM-AASHA), which of the following

schemes is/are part of PM-AASHA?

1. The Price Support Scheme (PSS)

2. The Price Deficiency Payment Scheme
(PDPS)

3. The Pilot of Private Procurement and
Stockist Scheme (PPPS)

Select the correct answer using the code

given below.

(a) 1 only

(b) 3 only

(c) 1 and 2 only

(d) 1,2 and 3

What is expected range India's of GDP in
2023-24 (economic survey 2022-23)
(govt. of India)?

(a) 5.7 to 6.7 percent

(b) 6 to 6.8 percent

(c) 6.7 to 7.2 percent

(d) 7 to 7.8 percent

Under Economic survey (govt. of India)
2022-23, what is expected fiscal deficit
in 2023-247?

(a) 5.4 Percent

(b) 6.4 Percent

(c) 7.4 Percent

(d) 7.7 Percent

44. Consider the following statements about

the fiscal management.

1. Union government will give 50 year
interest free loans to states which are
to be spent on capital expenditure
within 2023-24.

JATF CET — 2023

45.

46.

47.

2. Fiscal Deficit of 3.5% of GSDP is
allowed for states (in which 0.5% is
tied to power sector reforms).

3. Targeted fiscal deficit to be below
4.5% by 2024-25.

Which of the above statements are

correct as per budget 2023-247?

(@ 1and 3

(b) 1 and 2

(c) 2and 3

(d) 1,2 and 3

What is the aim of the 'SPRINT

Challenge' initiative launched recently?

(@) It aims to boost the usage of
indigenous technology in Indian
Navy.

(b) It aims to bring India's Ease of doing
business ranking among top 50.

(c) It aims to provide free and accessible
basic healthcare to all after Covid-19

(d) It aims to improve air quality in India
by reducing PM 2.5 concentration in
air.

Which of the following is/are the duties

of the Indian Coast Guard?

1. Preservation and Protection of
Marine Environment

2. Prevention and Control of Marine

Pollution

3. Assisting the Customs and other
authorities in anti-smuggling
operations

Select the correct answer using the code
given below.

(@) 1 and 2 only

(b) 2 only

(c) 3 only

(d) 1,2 and 3

Consider the following pairs:
Festival Associated State
1.Rann Utsav Odisha
2.Gangasagar West Bengal
Mela
3.Spituk Gustor Manipur
How many pairs given above is/are
correctly matched?
(a) Only one pair
(b) Only two pairs
(c) Only three pairs
(d) None of the pairs

14



40. I8 wufow waam A, 2022 F siaEa
erforfera & & e werre it et i e fora
TAT B2
1. Zeffegs argd 9=t
2. Tiead dadt
3. tarETfed gait
4. IFEntE 0
Fr=r faw 10 Tz /T 9= R FEt 39 AT

(a) Fa 1, 23T 3
(b) Fa 2 3T 4
(c) Fa 1, 33T 4
(d) 1,2,33T 4

41. "YHTEEAT AFETAT AT GO FfETT (frum-
aremT) & waw H, Meforfad Jremrei § 7 f4-
| FruH-3erT 1 Bear 2/8?

1. ToF G949 TreET (PSS)

2. e AT {IATE o1 (PDPS)

3. st @iiw ug w=ifehee graere TreT (PPPS)
= f3T 10 Tz &7 T X T2l 3L AT

(a) Fa 1

(b) Fae 3

(c) FaeT 1 3T 2

(d) 1,23 3

42. F¥ 2023-24 H WA H ST &1 ATATET
HHT FAT 7 (FTE " 2022-23) (9
THY)?

(a) 5.7 & 6.7 widera
(b) 6 & 6.8 Wiera

(c) 6.7 & 7.2 qfaera
(d) 7 & 7.8 wfaera

43. IfAF AT (AT GeE) 2022-23 F dgd
2023-24 ¥ AT TSTHRIYIT HTeT SAqATHT &P

(a) 5.4 wfera
(b) 6.4 wfaera
(c) 7.4 wfaera
(d) 7.7 Sfaera

44. FF RN g9 2023-24 F fA<hT y&gg+ F 9w
¥ feforfera Faat o = #2
1. %% 9¥a 2023-24 F HaT GSTq 37 9%
T 3T S 91er 92 § TSAT HT 50 AT T
TS H<h 0T (|
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45.

46.

47.

2. Tregt & forw Soedt & 3.5% & e
AT FY FqAfa g (RrEd 0.5% fastet &= %
AT & =T 2)

3. 2024-25 T TSHRIYIT =TT F 4.5% & F7
FLA FHT AT

Fle 2023-24 & AT ITLE & F A o

FAT A1 2?

(a) 133

(b) 1 3T 2

(c) 233

(d) 1,233

A 2 § & 4l T ¥ efsT 98 & 3297

FAT 8P

(a) THET I2eT WTLATT AraAT § Taeft STemfeht
% ITTRT & FETAT 347 2

(b) THHT IZ9T AT &l o 3% T fooHe
T T ofiT 50 § AT 2

() THHT 329 Ffae-19 F AT Tl &l [:9[7h
T AT FAITET TTET AT T&F FLAT §

(d) =HFT 329 AL | PM 2.5 T Fo=AT l FH
Fleh WL H AT 0 UrET § T FLAT g

FaffeaT & ¥ FE-97/9 IRAT Jead® adq
F/F FAA /5P

1. FEET qATALOT HT TRLE0T S qLEA|

2. HHAT TFUT il UHATH A7 ==

3. Te=d At afvmme § @\ o
STETIRAT 3T 7 TTTAFRTAT Al FETAAT HLATI

A= {3 10 T &7 93T F J9t 39 g0l

(a) FaeT 1 3T 2

(b) FaT 2

(c) Fa= 3

(d) 1,23

FReferfa ot = e fifs:
IE T 95 T

1. 707 ST e

2. FTER HAT  IF2IH 9T

3. foagw e wie

ST § | foha T T2t qHioT 8/8?

() Faer TF I

DEEEEIRE

(c) Faet o1 7w

(d) g ft 77 7L

15



48. Consider the following statements

regarding Kathak Dance:

1. The repertoire of the Kathak dance
includes the works of Mirabai and
Surdas.

2. The tradition of Kathak dance is
unaffected by the outside elements
such as Persian dance forms.

3. Wajid Ali Shah, the last King of
Awadh was a great patron of Kathak
dance.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3

49, In the context of the recent Har Ghar

Tiranga campaign launched by the
government, consider the following
statements regarding the flag code of
India:

1. The ratio of the length to the height of
the flag shall be 3:2.

2. The national flag should be made of
hand spun and hand woven khadi
bunting only.

3. The design of Ashoka Chakra should
be in black colour with 24 equally
spaced spokes.

Which of the statements given above
is/are not correct?

(@) 2 only

(b) 1 only

(c) 2 and 3 only

(d) 3 only

50. The Bretton Woods Agreement led to the

creation of which of the following
Institutions?
1. World Bank
2. World Trade Organisation
3. International Monetary Fund
4. World Economic Forum
Select the correct answer using the code
given below.
(a) 1 and 2 only
(b) 2 and 4 only
(c) 1 and 3 only
(d) 3 and 4 only

JATF CET — 2023

51. Which of the following statements is/
are not correct regarding the Green
Revolution in India?

1. Green Revolution started in India in
the early 1950s.

2. It was marked by an increase in the
use of High-Yielding Variety (HYV)
seeds.

3. The HYV seeds significantly lowered
the use of irrigation in India

Select the correct answer using the code

given below.

(@) 1 and 3 only

(b) 2 only

(¢) 1,2 and 3

(d) 3 only

52. With reference to the Hybrid Annuity
Model (HAM) model for Public-Private
Partnership in highway construction,
consider the following statements:

1. As per the model, the government will
contribute 60% of the project cost in
the first five years through annual
payments (annuity).

2. Under HAM, a road developer
constructs the road and he/she is
allowed to recover his/her investment
through toll collection.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

53. Consider the following statements
regarding the liquid nano urea:

1. It  helps in  minimizing  the
environmental footprint.

2. It has about 10,000 times more
surface area to volume size in
comparison to the conventional
granular urea.

3. It is indigenously developed and
patented by Indian Farmers Fertilizer
Cooperative Limited.

Which of the statements given above

is/are correct?

(@ 1,2 and 3

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1 only
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48.

49,

50.

51.

FIF A F Hay ¥ Fwfofag s BEw

FHrfor:

1. FIF T % e § frare i g i
FiaAT oA 2

2. FIF oA Hl T BILHT A AT STH a1
Tedt T TIATET 2

3. A F AW qATT ATISE AT 9T F2AF A
* HgTT H3eqeh I

ST FAAT § F FIF-T1/F T2T &2

(a) Fae 1

(b) &< 2 3T 3

(c) Fa 1 3 3

(d) 1,23 3

A Bl |, AT F g< °¥ faam At &

e N AR FHeT Hfgar ¥ e #,

faferfea Fu=t o= fa=mw fifor:

1. =S fT daTE oY AT (ATETS) FT AT 3:2
T

2. L HET Ha 21 F FTd g0 3T T | A
g0 @TET 9§ &7 20|

3. ST9TTeh =k il SATHIT 24 THIT T ATAT GTRAT
o T FTol T Al R

ST FAAT § F FIA-A1/F Tl 7al o/e?

(a) Fae 2

(b) &t 1

(c) FaT 2 T 3

(d) ¥ 3

Referfaa @ & foh Semsti St ST sed 459
AT FTLT g2 ?

1. g as

2. T = W

3. AP AT FW

4, fosg et w=

= faT 10 Tz &7 TN A FEt 3T AT
(a) FaeT 1 3T 2

(b) Fae 2 &7 4

(c) FaeT 1 3T 3

(d) ¥a 3 T 4

aTeq § g it & gey |, Fefere ot &

H FHIT-T1/H qal Aol 2 | 82
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52.

53.

1. 9T%a § gRa Hifd T g&era 1950 F 395 &
AT H g2 o)

2. wAfgrs IUS arefr fohewi (HYV) & it &
AT H g zEnt gt of

3. HYV &I 7 9req # f&=re it sraemawar &
TR 1 F¥ 23T 8

= {3 10 T &1 TN F FEt 39 ATl

()%rcwuaﬁ-{s

(b) Faet

() 1, zaﬁﬂ\-s

(d) Faet

TSI fATor # ArasTae-fast arefter & o
grEEe udr Afewr (HAM) + ®a9 ¥,
eferfaa Fuet o A= fifor:

1. TH AEA & AqAR, FLH TIH T Ju §
T SETAT (TRET) & qTeqq & TRAsET
AT FT 60% TRTETT FAT

2. HAM & s@iq, =& MAvoeRdt F1 39+ a0
At a=% 9= frw ro R @ 3 Jug F
HTEAT | THA LA Al ATAIT Il &l

YA FAAT H T HIA-A1/F T2l g/a?

(a) Fa« 1

(b) FaeT 2

(c) 1 3T 2Tt

(d) TdqT1, T8I 2

T AT IRAT & "ad #, Fefota e @

o= rfor:

1. Tg 9AELOT qE=eEd & FH T | HEg
FAT 2l

2. U TR IRAT Y TAAT | THH g5
SR TS 10,000 AT A& Zrav &l

3. T AT fFAW 39w gganr fofaes
(IFFCO) 3T Faeeft &7 7 ot forar
T 9T YT FIAT AT 2

ST FAAT H T FIF-A1/F T2l 8/e?

(a) 1,233

(b) Fa 2 3T 3

(c) A« 13 3

(d) = 1
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Arrange the following states in their
chronological order of formation, from
the earliest to the latest.
1. Uttar Pradesh
2. Andhra Pradesh
3. Haryana
4. Nagaland
Select the correct answer using the code
given below.

(@) 1-2-3-4
(b) 1-2-4-3
(c) 2-1-4-3
(d) 2-1-3-4

With reference to Good Governance
Index, consider the following
statements:

1. It is launched by NITI Aayog.

2. Itis prepared on a bi-annual basis.

3. It evaluates the performance of 20
sectors.

Which of the statements given above

is/are correct?

(a) 2 only

(b) 1,2 and 3

(c) 1 only

(d) 2 and 3 only

Arrange the following waterways in the
decreasing order of navigable length:
1. National Waterway 3 (Kottapuram-
Kollam)
2. National Waterway 2 (Sadiya Dhubri)
3. National Waterway 4 (Godavari
Krishna Stretch)
4. National Waterway 1 (Allahabad
Haldia)
Select the correct answer from the code
given below.
(a) 4-3-2-1
(b) 4-2-1-3
(c) 3-4-1-2
(d) 2-4-1-3

Consider the following pairs:

Phase Trend of population
growth

1. 1921-1951 Stagnant population
growth

2. 1951-1981 Population explosion

3. Post-1981 Decreased
population growth
rate

JATF CET — 2023

Which of the pairs given above is/are
correctly matched?

(@) 1 only

(b) 3 only

(c) 2 and 3 only

(d) 1,2 and 3

58. Consider the following pairs:

Initiatives Objective

1 SFURTI To organize
traditional
industries into

clusters to make
them competitive
2 CHAMPIONS To make the smaller

portal units big by
handholding and
addressing their
grievances
3 ASPIRE To promote startups

for innovation in the
agro-industry

Which of the pairs given above is/are

correctly matched?

(@) 1 and 2 only

(b) 2 only

(c) 3 only

(d) 1,2 and 3

59. With reference to the common BIS
standards, consider the following pairs:

BIS standard Used for
1. BIS Standards
Hallmark compliance mark for

industrial products
2. ISI Mark Mandatory standard
for gold and silver

jewellery

3. Ecomark Labeling of
environment-friendly
products

Select the correct answer using the code
given below.

(@) 1 and 2 only

(b) 3 only

(c) 1 only

(d) 2 only
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[ NI e N N

eforfaa At i1 396 T & FAThd |
AN T AT TF TG RAd FHiorT|

1. 3T 99

2. Y T

3. ghamm

4. AWMATE

= 3T 10 Tz &7 T30 X Tt 39 AT
(a) 1-2-3-4

(b) 1-2-4-3

(c) 2-1-4-3

(d) 2-1-3-4

54.

55. HTHA ATH & Haw #, Maferiad Fuai @
o= fifor:
1. =8 Nfq s gy «r= B = 2
2. =H fRaTits smeme ux qome G srar 2
3. THEF T 20 &A=HI & T FT Gegiswa T
STt Bl
U FAAT H F FHIA-H1/E Tl efe?
() eTeT 2
(b) 1,23 3
(c) Fae 1
(d) Fae 2 T 3

56. Awfead SToamTt #1 T 4TS & Fed FHH

Frgfeaa fifor:

1. TR ST 3(FETH-Fieed)

2. TP TAATR 2 (ATAT-¢a)

3. TP TAAT 4 (TETAL-FO0T GT)

4. T TAHA 1 (FATRTETE-2oaa)

= 30 T e T AT F qE 39 A
(a) 4-3-2-1
(b) 4-2-1-3

(c) 3-4-1-2
(d) 2-4-1-3

57. Fwfafed 3t w = fifvm:
TaedT ST g
Tq
1.1921-1951 f@?}'{wgﬁg
2.1951-1981 SaEaT faere
3.1981 & IW(A  SAHEAT Il aLH
FHY
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58.

59.

ST TEHT § | FI-H1/F Tl R 2/a?

b) Faa 3
c) FAT 2 T 3
d) 1,283
FRerferfea Tt w fa=m fifm:
EES] ST
1. &Rd TR SN A
(SFURTI)  gfaeaefT a=m & forw 3=8
FATIT § AR FLAT
2. Sy T THRTSAT HT AR
qreeT FLh AT IThT Tl
T T FH Ire dST
ERIERLCRIEII
3. THMET FO-ITM | FAFR F
(ASPIRE)  forw weré-sreq &1 agrar
T
S T H | R I-A1/8 g2t qatod 2/2?
(a) Fae 1 3T 2
(b) Fae 2
(c) Faw 3
(d) 1,233

AT BIS AT & 92 #, Meferfead 3ot uw
o= rfor:

BIS UTF% + forg s

1. BIS gt Ioarer & o

EEHTE  HTAE ST e
2 1STa$ W o i) ¥ st %

oo srffam aee
3. THMETH AT F AR ITTET 6
e
= {3 10 e &7 TN F TEt 3L AT
(a) Fa 1 3T 2
(b) ¥a< 3
(c) Fa 1
(d) ¥aet 2
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. With reference to the Ocean
Acidification, consider the following
statements:

1. Ocean acidification cause increase in
the ocean’s pH value.

2. The growth and survival of calcareous
zooplankton is adversely affected due
to ocean acidification.

3. The cloud seeding and formation of
clouds is hampered by ocean
acidification.

4. The excess algae and plant matter in
oceans contributes to ocean
acidification.

Which of the above statements is/are
correct?

(@) 1, 2 and 3 only

(b) 2, 3 and 4 only

(c) 1, 2 and 4 only

(d) 1, 3 and 4 only

Which of the following activities is/are
prohibited inside Eco-Sensitive Zones
(ESZs)?

1. Agriculture
communities
Rainwater harvesting

Commercial mining

Hydroelectric projects

. Tourism activities like Hot air balloon
Select the correct answer using the code
given below:

(@) 1, 2 and 3 only

(b) 3, 4 and 5 only

(c) 1, 3 and S only

(d) 2, 3, 4 and 5 only

practices by  local

abkown

62. With reference to the National Park,

consider the following statements:

1. The national parks in India constitute
about 3% of the geographical area of
the country.

2. They are declared on the basis of
UNESCO’s Man and Biosphere (MAB)
programme.

3. Activities like grazing, hunting,
forestry or cultivation etc. are strictly
prohibited in national parks.

Which of the statements given above

is/are correct?

(@) 1 and 2 only

(b) 3 only

(c) 2 and 3 only

(d) 1,2 and 3
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Consider the following statements with

reference to the aerosols:

1. Compared to Green House Gases
(GHGs), aerosols are short-lived and
persist in the atmosphere only for a
few weeks.

2. Aerosols serve as cloud condensation
nuclei resulting in high incidence of
rainfall.

3. Aerosols in the lower atmosphere can
modify the size of cloud particles
affecting Earth's energy budget.

Which of the statements given above are

correct?

(@) 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

With reference to Stem cells, which of

the following statements is/are correct?

1. Stem cells cannot be made in
laboratories.

2. Transplantation of stem cells can
cure HIV disease.

3. Stem cells can be derived from
mammals only.

Select the correct answer using the code

given below.

(@) 1 and 2 only

(b) 2 only

(¢) 1 and 3 only

(d) 1,2 and 3

Consider the following statements
regarding the White Spot Syndrome
Virus (WSSV):

1. White spot disease is a DNA-based
highly contagious viral infection.

2. The virus infects only crustaceans.

3. At present, there is no treatment
available to interfere with the
unrestrained occurrence and spread
of the disease.

Which of the statements given above are

correct?

(@ 1,2 and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only
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60.
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62.

TN 0T " #, Aot et

T = w7

1. WEMRIET TFAFRL o FOT 9% F1 PH
AT 8 ST &l

2. G ARAEIOT F FRO HeAdIH
ETTEICATHRed 1 gl T IALStaar Tfaser
T F TATIET gt 8l

3. "FATIS " 3T arEat w1 [T 9% F
FEA RN & ST ZraT 2l

4, HEETN § AAR 9are T 9= gard
THR F AFATHTT § TG FLd g

SULIE FAAT § F HIA-A1/T qLT 8/8?

() a1, 2 3T 3

(b) Faw 2, 33T 4

(c) a1, 2 3T 4

(d) FaT 1, 3 T 4

THI-HTHET ST (ESZs) / (TITEL- Haaaefia
&) % ey Auffag & & #i9 #f et
gfaated gl

ST FHET T FiW Tg it
FUT T T

Friorsas @

SERCEGRIEDIEEIY

. Bl T e ST wded wrfatateat

Fﬁ%%qwagzﬂwamaﬁwgﬁq
(a) FaA 1, 23T 3

(b) Faw 3, 4 3T 5

(c) Fa 1, 33T 5

(d) a7 2, 3,4 3T 5

s Wb

e 3aW % ded #, Feffea s @

[EEIEETS

1. 9T ® UET IAT 9T F ARITrd & FT
AT 3%

2. T A9 UT FAhaY (MAB) ®H#T *
ATLTT 92 A1Tud 7T 73T B

3. TP = § =wrE, forare, arfaer ar wdt
Tt fatafeat aeg afsrT 2l

SO QU T FAT H T FiT q/H ST 8/e?

(a) Fae 1 3T 2

(b) FaeT 3

(c) FaeT 2 T 3

(d) 1,2 3T 3
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63.

64.

65.

T % "5ey #, et fua W fEw

Hrform:

1. 9 gred T4 (GHGs) it o1 # UE
ACTRTTT I & AT had T& gFdl aF @l
FTATALOT § 2 2

2. TUIHIA dT&d HHAT gq ATE 6 & § Hird
Fd g e afRomaeEsT aut foseArd
Ffer graft 2l

3. TA=rer aTqses UTIHTS STae FOT1 % AR AT
T T Tl &, TSTEH I2AT HT o[ aoie
THTET BT JhaT &

ST FAAT H T Hl9-H Tl 872

(a) FaA 1 3T 2

(b) e 2 AT 3

(c) Fa« 1 3T 3

(d) 1,233

T FHITAFTS & Haw #, Moo Fu= § ¥

FIA-AT/E Tl 5/a?

1. TEH FHITARTAT I TIRTATAT H Al a4147 ST
THAT 2

2. TEH HITAHTA F TATLAT F HIV T0T &
STATE &1 T 2|

3. T HITAHTSA HI hae] TqeTAT T T fham
ST Foha T &

= {3 10 e &7 TN FX Tgt 3L AT

(a) a1 3T 2

(b) Fae 2

(c) Fa« 1 3T 3

(d) 1,233

Fgree Tie fHgm a" (WSSV) & #39 ¥,

et wat o A= fifeo

1. Z@TEe Tie AT TH DNA STeTRd TcAfas
T O] ST SFHAT 2

2. =g FAuTy A FEfrrS AT THieT Far g

3. FAET H, 39 ST F JAAta w9 F "gieq
I U THF THTL 1 U & (o0 s ITATC
IqeH Tl gl

ST FAAT H F F9-9 Tl g ?

(a) 1,233

(b) FaeT 1 3T 2

(c) Fae 2 3T 3

(d) FaeT 1 3% 3
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69.

With reference to the self-amplifying
mRNA vaccines, consider the following
statements:

1. These vaccines promise the flexibility
of plasmid DNA vaccines with
enhanced immunogenicity and safety.

2. The basic advantage is that it requires
a smaller dose than traditional RNA
vaccines.

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements with

reference to the BrahMos Missile:

1. It has been developed under the
Integrated Guided Missile
Development Programme.

2. It is a two-stage missile with a solid
propellant booster engine.

3. It operates on ‘Fire and Forget
Principle’, adopting varieties of flights
on its way to the target.

Which of the statements given above are

correct?

(a) 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

Consider the following pairs:

Diseases cause the Pathogens
disease that

1. Kyasanur Forest Virus
Disease

2. Leishmaniasis Fungi

3. Brucellosis Protozoa

4. Typhoid Bacteria

Which of the pairs given above is/are
correctly matched?

(@) 1 only

(b) 1 and 4 only

(c) 2, 3 and 4 only

(d) 1 and 3 only

Consider the following statements with

reference to the Potassium Iodide (KI)

tablets or Anti-Radiation pills:

1. These pills contain non-radioactive
iodine.

2. These can help block absorption and
concentration of radioactive iodine in
the thyroid gland.
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3. These pills reverses and removes any
damage done by radiation to the
thyroid gland.

4. The pills are recommended for the
people under 40 years of age,
including pregnant and breastfeeding
women.

Which of the statements given above are

correct?

(@) 1, 2 and 3 only

(b) 2 and 4 only

(¢) 1, 2 and 4 only

(d 1,2,3 and 4

With reference to the different types of
diabetes, consider the following
statements:

1. In type 1 diabetes, the body’s insulin
production either goes down or the
cells become resistant to the insulin.

2. In type 2 diabetes, the pancreas
completely stops producing insulin.

3. In diabetic ketoacidosis, the human
body is not able to absorb glucose for
energy and starts breaking down fats
instead.

4. If a person with type 2 diabetes stops
taking their insulin, they die within
weeks.

Which of the statements given above

is/are correct?

(a) 2 and 4 only

(b) 2, 3 and 4 only

(c) 3 only

(d) 1, 2 and 4 only

With reference to Bakelite, which of the

following statements are correct?

1. Itis a form of thermosetting plastic.

2. Itis a good conductor of heat.

3. It is wused for making electrical
switches.

Select the correct answer using the code

given below.

(@) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3

We feel burning pain when stung by Ant.
Which of the following acid is
responsible for the burning pain?

(a) Methanoic Acid

(b) Acetic Acid

(c) Oxalic Acid

(d) Tartaric Acid
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67.

68.

69.

TF-79gF mRNA & % #g9 #, Fofated

FaAT 9% = Fifr:

1. T & afgq yfaearsHe sfiT q2ar & a1
TATISHE SIUAT 11 o AA T T ALET &
2l

2. THRT A AT T g o =9 forw g
AUAT T T qadT § UH et garah il
ATFTFAT ZIT 2

STAE FAAT § F HIA-AT [ TG 8/

(a) Fa 1

(b) erer 2

(c) 13T 2=t

(d) TaT1, TS 2

i fTe ¥ dad ¥, fraffm st

IEE 1RSI Lt

1. =8 Thiga e e [ FEEd &
CESREEIEGRER IR RIS

2. IZ STH UG FEe¥ T & AT I A0 ATeAT
e 21

3. g THE=a oue @7 9% & AW § Afaw
IS &l ATATT g2 IO T A AT 6
rgid o= w1 FAT B

ST FAAT § F FIF-H Tl 82

(a) Fae 1 3T 2

(b) Fa 2 AT 3

(c) Faer 1 3T 3

(d) 1,23 3
Raferfa et = o= fifs:

T TRISS ST T FT
FICOT I §

1. FATEGE a9 TR [ELILS
2. AterAfAaTEE ECED
3. FHATEH BICIEIE |
4. ITTHITS EECAIROI]
T § | FT-97 / F A5 GHTT 2/5?
(a) Fae 1
(b) Fa 1 3T 4
(c) Fa 2, 3 3T 4
(d) Faer 1 3 3

Trefrr srareTEe (K1) T=de 97 - dRuae

AT & " § et F6E1 7 F=w w3

1. 9 Tamel § AT-XfRareHT s grar

2. ¥ IETEE U # IRAGHT AAEE F
FFITTIOT 3T THRTIAT ol A5 Fed § HES
T THd 2l
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70.

71.

72.

3. T Eara fataor gy arige oty iy fFw o

TRt oY TFET FT I TAT ¢ ST geT &t Bl

4, AT T TTAIE FLOF ATAT HIGATSN A2

40 99 ¥ FH IF F AN & (o0 4T Hi
forTier T STt 8

ST {30 0 Forel § | w9 T TEr 8

(a) Fa« 1, 23T 3

(b) Fae 2 3 4

(c) Fae 1, 23T 4

d) 1,2,3374

HqeHg & A9 THRd & "@ad §, Fefortad

Fei o o= Hife

1. 2139 1 AeHE | a7 7 g Icaras arar
FH I SAT@T g AT AR ST 6 @
ATt a= ST )

2. 23T 2 WYHE H AT T 38 & T
FT ICATE 9@ FT <dT gl

3. AgHg HeUEeed ¥ AFd a7 Sl &
ToTT TSt T ST eniod Fe § 9e7H 7gl grav
g T Taeh T o 39T i e 9F 7
T &l

4. I3 2129 2 YA & THET Ah S a1
FT T @, Al T gFAl 6 Hiaw 3Tl g al
ST

ST FAAT H T FF-91/F G5l 2/a?

(a) FaA 2 AT 4

(b) Fae 2, 3 T 4

(c) Fa= 3

(d) FaaT 1, 2 ST 4

dhdTse F dad |, Feforfa Foei § § f9-a

T E?

1. g JHTHIT AT F THh &9 g

2. IAZ FTHT T TATAF g

3. THH ITAN fa=qd & fea= aer # fm Strar
2l

= {3 10 e &7 TN F TEt 3L AT

(a)Faer 1 3T 2

(b)Fae 2 3T 3

(c)Faer 1 3T 3

(d)1, 233

HET % FTed I gH A 2T g1 Tg Td UH 3%
Aafortea § & o o7 % F0 gid 8?2

(a) HAATTH 7T

(b) TiErfes st

CEEEGIEEE R

(d) =R T
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Which of the following
components of fly ash?

1. Iron Oxide

2. Potassium Oxide

3. Aluminium Oxide

4. Titanium Dioxide

Select the correct answer using the code
given below.

(@) 1 and 3 only

(b) 2 only

(c) 4 only

(d) 1,2,3 and 4

is/are the

Consider the following pairs:
Vitamins/ Deficiency
Minerals Diseases
1. Vitamin A  Night blindness

2. Vitamin D  Scurvy
3. Iron Anaemia
4. Iodine Goitre

How many pairs given above
correctly matched?

(a) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All four pairs

are

Consider the following pairs:

Enzyme Produced by
1. Pepsin Pancreas
2. Lipase Stomach
3. Lactase Intestine

Which of the pairs given above is/are
correctly matched?

(a) 1 and 3 only

(b) 2 and 3 only

(c) 3 only

(d) 1,2 and 3

Consider the following statements with

reference to sound waves:

1. Sound is an electromagnetic wave
that can travel both with and without
a material medium.

2. Sound waves are longitudinal waves
in which particles oscillate to and fro
about their mean position.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

77. Consider the following pairs:

Lens/Mirror
1.Concave lens

Use
Spy holes in the
doors
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2. Convex lens
3.Concave
mirror

4.Convex mirror
How many pairs
correctly matched?
(@) Only one pair
(b) Only two pairs
(c) Only three pairs
(d) All four pairs

Magnifying glass
Solar furnace

Rear-view mirrors
given above are

A sound created in a big hall will persist
by repeated reflection from the walls
until it is reduced to a value where it is
no longer audible. The repeated
reflection that results in this persistence
of sound is called:

(a) echo

(b) interference

(c) pitch

(d) reverberation

With reference to Asiatic Lion, consider

the following statements:

1. Itislisted as Critically Endangered on
the IUCN Red List of species.

2. In India, it is only found in Gujarat.

3. SIMBA is an artificial intelligence
based software that distinguishes
patterns to identify Asiatic lions
individually.

Which of the statements given above are

correct?

(@) 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

Consider the following pairs:

Chemical Adverse effect
1. Carboryl Kills honeybees
pesticide

Deformities in the
backbones of fishes.

2. Toxaphene

3. Dichloro Thinning of bird egg-
Diphenyl cells.
Trichloroeth
ane (DDT)

Which of the pairs given above is/are
correctly matched?

(@ 1,2 and 3

(b) 1 and 3 only

(c) 1 only

(d) 2 and 3 only
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afefea & o ®F9-9178 w1 U F/F Tew
ele?

1. ST AFTeS

2. T AR

3. Ut TS

4. Ty siFETEE

= 3T 10 Tz &7 TN T Tt 39 AT
(a) FaeT 1 3T 3

(b) Fa<t 2

(c) FaT 4

(d) 1,2,33T 4

et ol ¢ fF=mr i
R s &0/ & g« a™ O
1. e A AT

2. fFerf® = D AT

3. A ThTedT

4. A Rl

ST § ¥ oA o FEt g o 87
() e T T

(b) Fae a7 I

(c) et T |

(d) =t =

Raferfa et = = fifs:

TSTEH STEA FHLA ATAT 3T
1. oftaq eeamerT
2. ATEUST  ATHTAT
3. kST AT

ST T § F FA-A1/H G qHT g/

(a) @ 1 3% 3

(b) Fae 2 3T 3

(c) Fae 3

(d) 1,23 3

eafer qemt & "e § el wuet w ffEw

FrforT:

1. eafs e fo=a Jaehia a1 g ST |ifae qred
*F HTT AT IR o497 T T JLRE T IS
FLAT Bl

2. &afT T AT T gIAT @ [orH o =T
T e § -1y T 3 6l

STAE FAAT § F FIA-A1/H TRT 2/

(a) Fae 1

(b) Fae 2

(c) 13T 2 =Ml

(d) TdT 1, TEr2

o oo

N N 2 o
(AT TET AT 9T 19T ST
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78.

79.

80.

TIRT
ATt § =i arerT o

e oftor

Aq/ador
1. Eqe o
2. IAA o
3. FAFAA TIT T TLT
4, IqA YW TH-3F A
S fohaw v @t qaferd 82
() T T L
(b) Fa a1 T
(c) Fae T TH
(d) =<ft =T

et o2 gie ¥ Ioas g aTetl eafe, dam &
FTLATT GLTAA o LT KT THT TF ST TZat
g 59 T o T8 Ta«1 %7 7 gl J10 & I8 g1
B T T2 T IEAR IEdd (S| HE0T eai-
fefer grar 8, Fgerrdn &

(a) Ifaeats

(b) =TT

(c) T

(d) srgeoTT

uforars o & "ae §, fRwferfera ot o e

EQIS L

1. THIUCN it 1 g1 § Tfiv &9 F Haheed
T =T H g9 a1 T[T gl

2. WA # Fg Ha [od | IIT 7T 2l

3. SIMBA T# F3# FiEATr-remia qiveaas
ST STNT-3TRT UIOATE 0 il TgATT il &

e T AT FLAT gl

SUAE FAAT § T HIA-T Tl 52
(a) FaA 1 3T 2
(b) FaeT 2 3T 3
(c) Fa« 13T 3
(d) 1,233
FReferfea 1wt = e fifsm:
QEIRIEED FIREERRIE]
1. ST THY AHFadl 6 g7 31
FreATIH ST Bl
2. TrFETHT THY "ot fir G &
e faga 21 St 2
3. STEFAT Ty qfert F STy aae
SEfFATRT 2T &
TTEFATLS AT
(DDT)
YA TIAT § F FIF-A1/E Tt qHiord 2/8?
(a) 1,23T3
(b) Fae 1 3T 3
(c) Fa 1
(d) FaT 2 3T 3
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81. Consider the following statements with
reference to the Greenhouse Gases
(GHGs):

1. Carbon dioxide accounts for more
than fifty percent of the natural
greenhouse effect.

2. Nitrous oxide has a capacity of
trapping heat 300 times more
effectively than carbon dioxide.

3. Methane gas is emitted from paddy
fields and coal mines.

Which of the statements given above are
correct?
(@) 1 and 3 only
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1,2 and 3

82. Consider the following statements
regarding Kuno National Park :

1. River Girna passes through this park.

2. Itis located in Madhya Pradesh.

3. It has been chosen for the Cheetah
reintroduction initiative by the
government.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d) 1,2 and 3

83. In the context of the India State of Forest
Report, 2021, consider the following
statements:

1. In terms of forest cover as a
percentage of total geographical area,
Arunachal Pradesh is ranked highest
among the states.

2. Nagarjunasagar-Srisailam Tiger
Reserve has the highest forest cover
area among all the tiger reserves.

3. Madhya Pradesh has the maximum

bamboo-bearing area among the
states.
4. West Bengal has the maximum

mangrove cover in India.
How many statements given above are
correct?
(a) Only one statement is correct
(b) Only two statements are correct
(c) Only three statements are correct
(d) All four statements are correct

84. "Yukti Kalpa Taru" was a treatise related
to which of the following?
(a) Astronomical Subjects
(b) Techniques of Dam building
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85.

86.

87.

88.

(c) Ship building Subjects
(d) Lost vax ("Cire Perdue") techniques

Consider the following pairs:
Mahajanpadas Present day
Indian states
1. Vatsa Madhya Pradesh
2. Kosala Uttar Pradesh
3. Avanti Bihar
4. Matsya Rajasthan

How many of the above pairs are
correctly matched?

(@) Only one pair

(b) Only two pairs

(c) Only three pairs

(d) All the four pairs

Which of the following events took place

during reign of Viceroy Lord Curzon?

1. Aravippuram movement

2. Enactment of Indian Universities Act

3. Establishment of Indian Agricultural
Research Institute (IARI)

Select the correct answer using the code

given below.

(@) 1 and 2 only

(b) 1 and 3 only

(c) 2 only

(d) 2 and 3 only

With reference to the history of ancient

India, which of the following was/were

common to both Buddhism and

Jainism?

1. Avoidance of extremities of penance
and enjoyment

2. Indifference to the authority of the
Vedas

3. Denial of efficacy of rituals

Select the correct answer using the

codes given below:

(@) 1 only

(b) 2 and 3 only

(c) 3 only

(d) 1,2 and 3

He was born in Tamil Nadu and is the
most respected Acharya in the
philosophy of Sri Vaishnavism. He is
famous as the chief proponent of the
Vishishtadvaita subschool of Vedanta
and wrote influential texts, such as
bhasya. Which of the following
personalities is being described in the
passage given above?

a) Siddheshwar

b) Someshvara

¢) Thiruvalluvar

d) Sri Ramanujacharya

— o — —
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81.

82.

83.

84.

gse T4 (GHGs) * a9 ®, Awfofua

FAt 92 fa= Hife

1. A STSIAFITEE TTHaF &9 F g arer =
BT TATT F 50% ¥ AT % o Iqeardr
2l

2. A STSAFITSE T TAAT | ATSIH SAFATES
H 300 IAT ATIF TATEAT &7 H FCAT &
AL T T &AHAT BT 2

3. 919 F gai sfiT FgT @ 7 {Ho" {9
IBEE LI

ST FAFT H | FIF-H Tol 22

(a) FaeT 1 3T 3

(b) Fa 1 T 2

(c) Fa 2 3 3

(d) 1,23 3

FAT T TEAT * H2W §, [Herfertead woet o

o= fifor:

1. TIAT 731 =9 3= ¥ g ot gl

2. g W T | e g

3. TH ATHIT GIRT FaT (a9 9gd & o 947
AT 2

STAE FAAT § F FIA-AT/T qBT 3/E?

(a) Fae 1

(b) Fae 1 3T 2

(c) Fa« 2 3T 3

(d) 1,2 T3

g a9 RFuafa o, 2021 F g5 #,

Freferfera waat a7 = fifs:

1. T AT &7 & Taerd = &9 H a97920 &
T | 20T T29T ToA] § TIH 79 97
2l

2. a1 e Red #§ Anmaanre-sfides
TR e ® FaTias aara<or &9 gl

3. T ToAT ° gaw FiAF a1 IcATEh a7 qeT
T H B

4, qd H g9 AfIF AWE A=graT s
T | 2

ST FAAT § F FIF-A1/E T2l g/a?

(a) Fa TH FIT ALl 2

(b) Fae IT FAT FALT 2

(c) e AT FAT Tl B

(d) =it =T FAT A2l B

"qfeF Feq q= Referfea ®§ & e & gafaa v
IT?

(a) & T A

(b) stgTer At ooy

(c) ater fAmToT &t Tohelieh

(d) Fiee = ("ETST UTeT") aEA
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85.

86.

87.

88.

Rerfered T 9% fF=me #:3
AEIS FAATT WA T ST
1. 9| HET T
2. HIAA ERESEL
3. et [EFARS
4. AT TISTEAT

SULIE IOHI | § Fohad ST dgl qHied 62

() T T

(b) et &1 T

(c) Fae T TH

(d) =sft =T T

FTAELT ATE Fold o AR §, Feforfed &

FAIA-HT AT =TT 2fF?

1. R A=

2. e fEeafEeme srtataaa s arfa
ST

3. MR FU sqEea™ Herd (IARI) it
T

= 2T 10 Tz &7 9= T Fgt 39 AUl

(a) Fa 1 3T 2

(b) FaeT 1 3% 3

(c) FaeT 2

(d) Faer 2 3T 3

ITH A AT & SIAe & dad §, FAefofaa § 9
Tl AT/ ST &H ST S &¥7 IIAT 6 oo T
q7?

1. TT T I % T 7 TRER

2. 9aT % ATH & T IETEaT

3. SISl TATARTAT FT G

= {37 10 e &1 TANT FT Tt IO A0
(a) Fa« 1

(b) FaeT 2 3T 3

(c) Fa= 3

(d) 1,23

SAET STeH JIHAATE § galT o7 oY F AT Jeraang
F T W g9 qERTET =TT g1 F agid
faforeTga I9-9maT % T yeaTasd & w9 § JHE
g ST Srgid STST SIE TWTFATeAT G277 77T
Al

ST aheee ¥ Mefatead § & 5 stea i

FUI 3T ST 3T 87

(a) Frgsax

(b) TTEET

(c) fawaeeae

(d) = TrATESITEE
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89. With reference to the Pandya dynasty 2. Rajendra Chola I destroyed the Chera
during the Sangam age, consider the navy at Trivandrum, and later
following statements: captured Madurai, the capital of
1. The Pandyas are mentioned by Pandyas.

Megasthenes in his texts and 3. The Chola rulers marked their

highlighted the matriarchal influence
on the Pandya society.

2. The Pandya territory occupied the
southernmost part of the Indian

victories by erecting temples and
having inscriptions written on the
walls of these temples.

Which of the statements given above

peninsula, with its capital at is/are correct?

Kaveripattanam. (@) 3 only
Which of the statements given above (b) 2 and 3 only
is/are correct? () 1,2 and 3
(@) 1 only (d) 1 and 2 only
(b) 2 only

(c) Both 1 and 2

93.

With reference to the Shimla Conference

(d) Neither 1 nor 2 of 1945, consider the following
statements:
90. Match the following pairs with reference 1. It was attended by both Mahatma
to Departments and their founders in Gandhi and M A Jinnah.
Delhi sultanate. 2. Lord Wavell accepted that Muslim
Departments Founders League is the sole representative of
1. Diwan-i-Arz [Itutmish Muslims in India.
2. Diwan-i-Amir Mohammad Bin Which of the statements given above
Kohi Tughlaq is/are correct?
3. Diwan-i-Khairat Firoz Shah (@) 1 only
Tughlaq (b) 2 only
4. Diwan-i-Khairat Alauddin Khalji (c) Both 1 and 2
Which of the above Pairs is/are correctly (d) Neither 1 nor 2
matched?
(a) 1 and 4 only 94. With reference to the history of ancient
(b) 2 and 3 only India, Bhavabhuti, Hastimalla and
(c) 2, 3 and 4 only Kshemeshvara were famous
(d) 1, 3 and 4 only (a) Jain monks
(b) playwrights
91. With reference to Delhi Sultanate, (c) temple architects

consider the following statements:

1. Balban organized a group of forty
nobles as the ‘Chahalgani’.

2. Alauddin Khalji prohibited social
gatherings and festivities of Nobles

95.

(d) philosophers

In context to Political system during
Mughal empire, consider the following
statements:

without his permission. 1. The Sarkar were provincial
3. Firoz Shah Tughlaq had the unique administrative units of empire under
distinction of being chosen as Sultan pargana.

by the nobles.
Which of the above statements is/are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 only

(d) 1,2and 3

2. Each Sarkar has only one Fauzdar as
the executive head to supervise law
and order.

3. The Bakhshi appointed in subas
performs similar military functions as
Mir Bakshi at the Centre.

Which of the statements above is/are
incorrect?

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 3 only

92. With reference to Chola rulers, consider
the following statements:

1. Raja Raja Chola assumed the title of

Gangaikondachola (‘the Chola who
conquered the Ganga)).
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89.

90.

91.

92.

TAH 7T F I G717 397 F gaw 7, et

Tl oY = Hife

1. HTEIRIST 7 (O T7 § aiesi #7 Soord AT
7, 9T I 3 qieT 6 9 HIJEAcHE
TATE T Y TEitRa AT 2

2. UTST &F 7 AT TG % Ifeuft 1T 9%
STerTT FT o, THehl TSgTT R Igaq
f|

ST FAAT § F FA-A1/E Tol 5/a?
(a) FaeT 1
(b) et 2
(c) 1 3fi¥ 2 =T
(d)Far 1,782
TaoetT Toada | feramT ofiT 37 GEATIhT o HasT
# et o9 qaferd )
KU LIS IEE]
1. FEE-U-35 TeqarHeT

2. TAH-U-THT Flgl  HigHR o T
3. EaH-T-Ead RS IR UEED
4, {ATH-U-FETT AATSE T A
YL SIS § | &I A7 /9l qHied g2
(a) 1 ¥ 4 Fae

(b) 2 3% 3 FaAA

(c) 2, 3 3T 4 FaT

(d) 1, 3 3T 4 Fa

foeet Oeqaa F g9 #, FRufefeg FaAt o

[EEILETS

1. Fa9 7 IgAHT F T § ATAH TSI 6 THh
THE FT TS [T

2. AATIE @A o SAHI ATATT 6 &
HTHTIST FHT G 31T T281 & a9 Tiaae
ERIRERT

3. TSt arTg quere 1 T2HI 1T godTd & &9
H F ST T 3T A AT

UL FAAT H F FIT 4T /AL B2

(a) 137% 2 Fae

(b) 2 3% 3 FaA

(c) 13%a=

(d) 1, 2 3% 3

T AT % g9 # et woat o ff=r
Hrforo:

1. TSI AT o IS Riea T (T 9T fasrr o
FLA qTer A7) ¥ ITFEr &meor i
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93.

94.

95.

2. TNiE A TAT F FBFegH § = AT F GHE
F 23T oY a1 § uiedl T TS qge
I SAIAT ATAFRTT T FT foram

3. e araEt 7 "wiewt w1 [t #79 $iw
Hfewt i At 9T qfverg It T ot
[EEREIREIESCRER

ST FAAT H T FIF-A1/F T2l 2/e?

(a) Fa= 3

(b) Fa 2 3T 3

(c) 1,253f%3

(d) Fa 1 3T 2

T 1945 F AHAT T & §a9 H, Fefertad

FAAT 0¥ o= Ffr:

1. TEH HETcAT Tieft oY UH. U, for= a9 7 9T
o =m

2. dE Fa7 7 Ag T AT B qgieas o
AT § HAAHATAL 1 THAT T 2

ST FAAT H T FIF-91/4 ol 2/a?

(a) Fa 1

(b) eeT 2

(c) 1 T 23T

(d) TdqT1, 752

IS AT & (g™ & dad H a9,
gheqaee T efeaT Tieg J°

(a) St 7

(b) ATEHFHTE

(c) HTET aTEHIT
(d) zTeiEE

TR AT o Z TSI F 2T & Jae

#, Feferfea Fuet o = w1

1. 9<FE, 90T & aefi| gy f aid
ENIEIEEREEaERIRIL

2. TIF HYEHIT &% T FHAA AT FAGEAT Hl
A % o FEEET W@ F ' H had
TF TSI graT gl

3. 99 ¥ Ay aweft, #% & fiw aeeft & a9
T T HAT g

UL FAAT H F HIF-H1/F TAd 5/8?

(a) Fa 1 3T 2

(b) Fa 2 3T 3

(c) A« 13 3

(d) ¥ 3
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96.

97.

98.

With reference to the Indian Nation
Congress  sessions, consider the
following events:

1. Haripura Session

2. Tripuri Session

3. Belgaum Session

4. Faizpur Session

What is the correct chronological
sequence of the above events?

(a) 3-2-1-4

(b) 3-1-2-4

(c) 3-4-1-2

(d) 3-4-2-1

Consider the following statements about

the Panchsheel Agreement:

1. Principles wunder the Panchsheel
agreement were first codified during
an agreement between India and
China in 1954.

2. The  principles of 'Panchsheel

Agreement' were later adopted by the
United Nations General Assembly.

3. 'Panchsheel' was the basic principle of
the Non-Aligned movement.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 1 and 3 only

(c) 2 and 3 only

(d) 1,2 and 3

Consider the following statements:

1. He was a Portuguese traveller who
visited the Vijayanagara kingdom in
the sixteenth century.

2. He compared capital city of

Vijayanagara with Rome.
3. He has given vivid details about -
irrigation system by pipes and tanks,
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99. Consider the

100. Consider the

the house of victory or "Mahanavami
dibba", and the bazaar.
Which of the following personalities is
being described by the above given
statements?
(a) Nicolo de Conti
(b) Domingo Paes
(c) Colin Mackenzie
(d) Athanasius
following statements
regarding Shivaji:
1. Shivaji was formally crowned in
Nagpur in the year 1656.
2. Shivaji Bhosale was a contemporary
of Aurangzeb.
3. Shivaji fought against the Mughal
army in the Battle of Pratapgarh.
Which of the statements given above
is/are correct?
(@) 1 and 3 only
(b) 2 only
(c) 1,2 and 3
(d) 2 and 3 only

following statements

regarding the Congress-Khilafat Swaraj

party also known as the Swaraj party:

1. Swaraj party was formed after the
defeat of the  Council-entry
proposals at the Gaya session of the
Indian National Congress.

2. Motilal Nehru was elected as the
President of the Swaraj Party.

Which of the statements given above

is/are not correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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96. WA TP F9 a7 % "y ¥, Fufefaa

97.

98.

EESIEIRESEE IR s
1. ghRT srfdeem
2. B stfeaee
3. ST sTfgEerT
4. T AteEeT
SULIH FEATAl T Tl HIATIH T HH FIT 5P

(@) 3-2-1-4

Tefier FHETT F A § Aufied w@E @

[EEILEDS

1. d=efiter a0=ATT & qgq Agial & Tgat a%
1954 T 9TLT 3T =19 & o9 Uk GHATT 5
3 Higarag T @ am

2. 'deefie wHATT F il #r g § 9y
Y HETEHT ZTT SAqATAT 4T

3. 'd=efier qefAee stiaras 1 gt fRrgid =m

ST QU T FAAT H F w9 qU/H qGT /SR

(a) Fae 1

(b) Fae 1 3% 3

(c) Fa 2 3T 3

(d) 1,2 T3

o N N

feferfea Fu=t o A= fifor:

1. g UF et At oor, S Jemd
oraTeal § fareTa=eTe |AT9TST A & T o

2. 399 s it TSreTr it oA A9
#¥ o

3. A AT T arerEt gy {Ere g,
oS & waq A7 "HeEaHr s e
FTSATE & FT¢ | e fFawr o g1
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99,

100.

S Faal § Autafea § & e s @
Ui oA ST 7T 8

(a) TARTeT S FidT

(b) STTETT I

(c) ifere Fehsft

(d) gt

forarsit F "= &, el st o e

Frfor:

1. a9 1656 H WY | forarsit &1 shu=ries
& T qTS TgATAT 97 AT

2. forarsi e siarSia % qweTei )

3. foEmtt yarre f 7= § ga #9T F
ERZ=EERL

ST FAAT H T FF-91/E 5l 2/a?

(a) Faer 1 3T 3

(b) FaeT 2

(c) 1,23T3

(d) e 2 @7 3

FUT-TGATHRT TGS & a9 |, o v

T & ATH & AT ST 14T g, Moot waei

T A= fife:

1. TFC09 T FT T5T AT TET FUE F
AT AT H TRORT | T FTA o6 TedqTd
#T Fawerar & are T 3T =m

2. WA g% TaLST I & AETeT I 0|

ST HAAT H F FIA-A1/H Tl 7ol a/g?

(a) Fa 1

(b) FaT 2

(c) 13T 23T

(d)qFdqT 1, TET2
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PART II (APTITUDE)

Read the following Fourpassages and answer
the question that follow each passage. Your
answers to these items should be based on
the commended passage only.

Passage - 1

A number of empirical studies find that
farmers are risk-averse, though only
moderately in many cases. There is also
evidence to show that farmers' risk aversion
results in cropping patterns and input use
designed to reduce risk rather than to
maximize income. Farmers adopt a number of
strategies to manage and cope with
agricultural risks. These include practices
like crop and field diversification, non-farm
employment, storage of stocks and strategic
migration of family members. There are also
institutions ranging from share tenancy to
kinship, extended family and informal credit
agencies. One major obstacle to risk sharing
by farmers is that the same type of risks can
affect a large number of farmers in the region.
Empirical studies show that the traditional
methods are not adequate. Hence there is a

need for policy interventions, especially
measures that cut across geographical
regions.

Policies may aim at tackling agricultural risks
directly or indirectly. Examples of risk-
specific policies are crop insurance, price
stabilization and the development of varieties
resistant to pests and diseases. Policies which
affect risk indirectly are irrigation, subsidized
credit and access to information. No single
risk-specific policy is sufficient to reduce risk
and is without side-effects, whereas policies
not specific to risk influence the general
situation and affect risks only indirectly. Crop
insurance, as a policy measure to tackle
agricultural risk directly, deserves careful
consideration in the Indian context and in
many other developing countries because the
majority of farmers depend on rain-fed
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agriculture and in many areas yield variability
is the predominant cause of their income
instability.

101. The need for policy intervention to
mitigate risks in agriculture is because.

(a) farmers are extremely risk averse.

(b) farmers do not know how to mitigate
risks.

(c) the methods adopted by farmers and
existing risk sharing institutions are
not adequate.

(d) majority of farmers depend on rain-
fed agriculture.

102. Which of the following observations
emerges from the above passage?

(a) One can identify a single policy that
can reduce risk without any side-
effect.

(b) No single risk-specific policy is
sufficient to reduce agricultural risk.

(c) Policies which affect risk indirectly
can eliminate it.

(d) Government's
can mitigate
completely.

policy intervention

agricultural risk

103. Consider the following statements:

(i) A primary group is relatively
smaller in size.
(ii) Intimacy is an essential

characteristic of a primary group.
(iii) A family may be an example of a
primary group.
In the light of the above statements,
which one of the following is true?
(a) All families are primary groups.
(b) All primary groups are families.
(c) A group of smaller size is always a
primary group.
(d) Members of a primary group know
each other intimately.
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T 1T ()

Aot = aR=eaT # 9fRT & yas 9TR=eg #
AT 3 AT TN F I <orT| 24 qor=t & forw
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101. FW & Sifew =wem gg Ao geagm #i

AFYTFAT TATT &, FFIH

(a) FUF SAEH I & Hard ATT=ga ard
2l

(b) T AL AGI AT o TITEHT T o6 THTT
AT ST

(c) FHT FIT ATATY U T 3T A |
AZATRAT FIA ATAT FAHTH HEATT IATH
Tl 2

(d) FgEETs FUF Ful Hf=a Fo a7 Fd7 8

102. IT T=eE ¥ Aeferfad s & & fig-ar

IHT FT GTHA AT 8?2

(a) T STheAT THET AT T Tg=Te il ST Fehel T
© SIT TaT foreft 9o sramar o STrfes =l =e T
e

(b) 9o Sfew 1 T FE UHT AT
AT 78T B FHAT S FORTT AH F
2T &g T3 &l

(c) ST T TITET T F TATAT FLeA ATA
fifaat zaet [T T qdt 2

(d) T FT AT gEqerT FORTT SIaHt
& 0T FT H FH FT FHAT 5

103. Tt w1 o = fifer:
(i) STETHF FHE AR | ATATHRT BT grav
gl
(i) =TSaT YTItHE g FT T ATHAAT g
(iii) T TRETT ITATHF THE FT IITGLOT BT
TqHAT B

ST FAAT % e §, ot § & ®i-
T U WET P

(a) T+t TRET STt aE gl

DEEIRIRIEERE G IEC L

(C) ATATHT FIe ATHIT FHT THG gHAT TTATHH
HYE 2 &l

(d) ST THE % TEET UH-gHY F A=edr F
ST Bl
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Passage — 2

In recent times, India has grown fast not only
compared to its own past but also in
comparison with other nations. But there
cannot be any room for complacency because
it is possible for the Indian economy to
develop even faster and also to spread the
benefits of this growth more widely than has
been done thus far. Before going into details
of the kinds of micro-structural changes that
we need to conceptualize and then proceed to
implement, it is worthwhile elaborating on the
idea of inclusive growth that constitutes the
defining concept behind this Government's
various economic policies and decisions. A
nation interested in inclusive growth views
the same growth differently depending on
whether the gains of the growth are heaped
primarily on a small segment or shared widely
by the population. The latter is cause for
celebration but not the former. In other
words, growth must not be treated as an end
in itself but as an instrument for spreading
prosperity to all. India's own past experience
and the experience of other nations suggests
that growth is necessary for eradicating
poverty but it is not a sufficient condition. In
other words, policies for promoting growth
need to be complemented with policies to
ensure that more and more people join in the
growth process and, further, that there are
mechanisms in place to redistribute some of
the gains to those who are unable to partake

in the market process and, hence, get left
behind.

A simple way of giving this idea of
inclusive growth a sharper form is to measure
a nation's progress in terms of the progress.
of its poorest segment, for instance the bottom
20 per cent of the population. One could
measure the per capita income of the bottom
quintile of the population and also calculate
the growth rate of income; and evaluate our
economic success in terms of these measures
that pertain to the poorest segment. This
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approach is attractive because it does not
ignore growth like some of the older heterodox
criteria did. It simply looks at the growth of
income of the poorest sections of the
population. It also ensures that those who are
outside of the bottom quintile do not get
ignored. If that were done, then those people
would in all likelihood drop down into the
bottom quintile and so would automatically
become a direct target of our policies. Hence
the criterion being suggested here is a
statistical summing up of the idea of inclusive
growth, which, in turn, leads to two,
corollaries: to wish that India must strive to
achieve high growth and that we must work
to ensure that the weakest segments benefit

from the growth.

104. The author's central focus is on
(a) applauding India's economic
growth not only against its own
past performance, but against
other nations.
(b) emphasizing the need for economic

growth which is the sole
determinant of a country's
prosperity.

() emphasizing inclusive growth

where gains of growth are shared
widely by the population.
(d) emphasizing high growth.

105. The author supports policies which will
help
(a) develop economic growth.

(b) better distribution of incomes
irrespective of rate of growth.

(c) develop economic growth and
redistribute economic gains to

those getting left behind.

(d Put an emphasis on the
development of the poorest
segments of society.
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TR=EE - 2

ST % qUT §, AL 7 A & I AT hl g7 H,
Ffed =T 9t & AT # AT, a7 G gav 2|
o o et semeae #v wStrger A€ g7 Al
FAIR e Adeqaer F foro g o afees i
T AT T =H "gfg & ATAT &I, T qH fora-Ar
TFaT AT & SEE FEl ATHE ATIE T A, ATAFTIeH
AT T TgATHT T 2| 3T GER-HLATTHE qradei
 TRTRT o SATT | ST & Tgel, Foreht g8 Eoheder Fed
AT TT 37 FATead Fe il ST&<d g, aaraeft g
& famm =1 fareaTe & TaT e g, S B o '
& fafersr snfefw Hfaat sie ot & f vs s
Hehedd T MTHT F2ar g aamEeht @9t # == @ arar
Ty T Hgfy 1 vk e =Y F T@ar § S s W
e g o6 Fm wgfe 3 ATl &7 STHEet F uE g
50 9T ST s7Fame o fogr 1w § A7 29 /it A
TTH ®9 § GIHAGHT g | 3R §qfg 6 AT § ATTH
& H AT ¢ a1 7 geft it 919 g, T 3§91 &
AT U [ZE0 T2 &1 Hiwd &, al dail gAY eal |, Hafa
T ST T U Aq1eT il q¥E qg! @l T A2,
Ffed =8 auft T FIEdT AW F UF G799 F w7 H
TGT ST AU AT 6 &9 6 AT 6 AAT TT
AL g F aged T, A g € ¥ "gfa wer w
ST & oI e A7 & TYeq A€ U T O a8l
T | TEX =Rl ®, Wty gEr i Aot 1 vy i
Tt & FrgRa AT ST saews § S 7 qEted
¢ T srfersmrfers =T wrgfeg & wiwr & onfaer 2, siw
Tz «f, o U BraEteat Suasy gt e g A
U RN § qAfaana e S ST a8
AR B9 | oTeTH § oY 26 F10r 918 Y 1T &

TaTAeft §gfa F =9 o= #1 U e qery
T I T U TCA LT Ig & 1o FoRet a7 it 3=t hr
3O qEd T B, IIEIOd, JHEEIr & ga9
=t 20%, Y SH F MUTT 9T AT AT STAEEAT
F = gad A= aiwd B &t wia =3f=e s v |qran
STT TR T § S¥ 30 T Jfeg T T T0AT ofF 6T ST Tl
g; ST HEq T B ¥ qyafead =9 9Tt & YT
U ZHTLY 3 THeTdT T SohereT TR ST TRl 21 T8
3P FuF g, T T8 Hgfe ol 39 d¥g IU&T qel
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FAT S TF Fw 98l F TrueIiaeg gHavel § 6T
STT off| TE a9 STAEEAT F qay Te ZE i o i
gfe #1 & @t g1 T2 =8 A gRiET w2 & uE
AR =67 AT IUeAT F B S 26 oAt qi=e fZed | arey
S| 3T UET BT, a1 O qearaar g 6 F o ot 2w e
=A Tt F1 ey e a9 A0 TH THRE TS AT
TU gHeve qETENT @gfg ® AR & e
HATHAT & ST IO &1 SAHGAT 1 AT of ST 2
Tg THET FAT ToF araeTss &9 F 9ea SAT 99y
FA T IATH FY ST ZH ZH AT FA & o
T o qafa & g T fF arartaq g

104. =9 T=uE |, o@® il g T Fegicrg F47 27

(a) ATIT T, T FaA THF GR 6 TF o6 (oI
T FeraT | afesd o= gl i goran # o,
Tt "gfeg AT AT FHIATI

(b) sfee wgfe F AFLTHAT I F <7, ST
39T T FFIAT Al THATT HETF B

(c) 3| wHTash ®gfyg o a« =T, S+
SHEEIT ATIH: & F Hgtg & ATAl |
HEATIT ETeAT €

(d) S 9qfg 9 o 3T

105. =T Y=g H, o@® 39 AT 7 G799 FdT

g, S

(a) s wgfe v g & Tgra g

(b) T F gAY Aaew ¥ qgI® g, AR
35 3 7= AT e

(c) s Hgfe dem T s Iuafegat
T ITH qAEAT FA § Ggraeh g, S
19 72 77 2

(d) FoT % "qEH T {Er w1 aw
3§ HETAE givill
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Passage-3

It is essential that we mitigate the emissions
of greenhouse gases and thus avoid some of
the worst impacts of climate change that
would take place in coming years and
decades. Mitigation would require a major
shift in the way we produce and consume
energy. A shift away from overwhelming
dependence on fossil fuels is now long
overdue, but unfortunately, technological
development has been slow and inadequate
largely because government policies have not
promoted investments in research and
development, myopically as a result of
relatively low prices of oil. It is now, therefore,
imperative for a country like India treating the
opportunity of harnessing renewable energy
on a large scale as a national imperative. This
country is extremely well endowed with solar,
wind and biomass sources of energy. Where
we have lagged, unfortunately, is in our ability
to develop and to create technological
solutions for harnessing these resources.

One particular trajectory for carrying out
stringent mitigation of greenhouse gas
emissions assessed by the Intergovernmental
Panel on Climate Change (IPCC) clearly shows
the need for ensuring that global emissions of
greenhouse gases peak no later than 2023
and reduce rapidly thereafter. The cost
associated with such a trajectory is truly
modest and would amount, in the estimation
of IPCC, to not more than 3 percent of the
global GDP in 2030. In other words, the level
of prosperity that the world would have
reached without mitigation would at worst be
postponed by a few months or a year at the
most. This is clearly not a very high price to
pay for protecting hundreds of millions of
people from the worst risks associated with
climate change. Any such effort, however,
would require lifestyles to  change
appropriately also. Mitigation of greenhouse
gas emissions is not a mere technological fix,
and clearly requires changes in lifestyles and
transformation of a country's economic
structure, whereby effective reduction in
emissions is brought about, such as through
the consumption of much lower quantities of
animal protein. The Food and Agriculture
Organization (FAO) has determined that the
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emissions from the livestock sector amount to
18 percent of the total. The reduction of
emissions from this source is entirely in the
hands of human beings, who have never
questioned the impacts that their dietary
habits of consuming more and more animal
protein are bringing about. Mitigation overall
has huge co-benefits, such as lower air
pollution and health benefits, higher energy
security and greater employment.

106. According to the passage, which of the
following would help in the mitigation
of greenhouse gases?

1. Reducing the consumption of meat

2. Rapid economic liberalization

3. Reducing the consumerism

4. Modern management practices of
livestock

Select the correct answer using the

code given of below:

(@ 1,2and 3

(b) 2,3 and 4

() 1 and 3 only

(d) 2 and 4 only

107. Why do we continue to depend on the
fossil fuels heavily?
1. Inadequate technological
development
2. Inadequate funds for research and
development

3. Inadequate availability of alternative
sources of energy

Select the correct answer using the

code given below:

(@) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3

108. What is the essential message of the

passage?

(a) We continue to depend on fossil
fuels heavily

(b) Mitigation of the greenhouse gases
is imperative

(c) We must invest in research and
development

(d) People must change their lifestyle
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TR==E -3

T8 TeETaeTE g o 2w fiwgsy T4 #71 S "erv
3IY =9 dYg ARTHT FUT ST F900 | g a1 STaarg
qRaad & @ dEaiT TAE! F T IS 7 FL h
forT ST % ITUTE ST ST F gL a0t | U 27
TEATT FUTETT ZIIT| ST Se=T U< TeAfars fdear
H gedAT Afdfaateaa g, g gaWT &, St
o 9T sfiT sroate w@r €, "W d¥ u¥ Thin, F
S T TUeATRT % FIdT & ST TgERTdT 3 LT
LRI AT AqEET i e § Faer &7 Tremga
Tl ool Yol 8| TAT e T AT aT F &9 H Igq
AT I TAHLUT FoT1 0l HTH | ATH o ATHL ] ATH
ISTHT AT STH 29T o oI SeaTaesa g1 T 397 o/l
HIT, aTg 3T SEHTAT Al & AATIF T8 gl AT
¥, Sgt a9 e 2, 9 § 3 &l 6l H H A % ©g
SRR q9TeTe At eie ata we i gamr
T

Sar] IEdd 9% dd AR 99a (IPCC) 3T
Ratia =7 7 Magrsa T9T 1 a&dt 7 7 F % (o0
U 3Afre wHT 97 Ty w4 ¥ qg qEAT wA A
AALTFHAT FI fe@mar g & f=gsa ™l F que«iy
IHSIAT T FH favg 2023 &l T T FL AT IqE AR
AT & =Ed | UH THAT-T F Q7T g AN T
TATfaa g 3 Taeht 7y, IPCC & st §, 2030 #
s GDP % 3 Wiaera & stfer Jal gt | SHY 9Teal H,
Troear & o wa a7 g 99T Ioas § 1 9w
T HhdT, TE & @ITE grAd H g 71 AT ATIF-9-
ATEF U a9 T = JTUI(T| T Tg, TATY Tad
H S aGqT @A H FUST AN 00 =1 6 (o7 THTS
ST FTAT TS Fgd a=T HAd dal gl a7, TH
7T & o staa-arfert &1 o SUgT €9 | aEe T
N AFEsT TH % I@sid § FHI @1 9% TH
SRR IUTT 9 A1 g, 3f¥ T8 o ¥rgq: Sfra--
ATt & FaeTa ST T97 T T =T § Ao
sutera g, e g, Scasid &l T9Tal &9 % a7
ST, S T STt e % AT F9 gTETeh § SUEnT &
AT & QT UF Y 64 (FAO) 7 g Reaiia frar
g T T9g o= | IS T Icaeid AT 18 wiaerd
ZIAT €| 3 AT | Bl T IS | HHl AT T a3g
aeAt & g & g, B el srftre-g-srfer Sfiw
TTE o STHANT 6T ATGTE-ATIAT o R0 T AT THTH
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U FHHT HS TT Tl SSAT| TEqA: IS § FHHT AT %
faerTer FE-HeTd &, S SUATET FH AT TG AT
T HaeY ATH, IFAT FrolT FIATSIaar a7 e oTfaT
RERIR

106. TR=gg * aqaw, Fuffea & & @9
EETSH 91 F IHAT KT FH F4T § qgMTR
g
1. WIE % START H FHT AT
2. ora sfde 3aTEwIr
3. ITAHETE § FHT ATAT
4. qYET AT AR TaeT AT
A= faT 7T e T TART T Hal 3L AT
(@) 1,237 3
(b) 2, 33T 4
(c) Fae 1 3 3
(d) Fae 2 3T 4

107. A SEATRH TEAT 9T At FH9 F7 a7 gu
g?
1. STATH SRR AR
2. SAHYT o o  forw staats Mfet
3. AT F JRfedsh BTl T ATATH STASHT
= 3 T 2 T AT F qE I A
(a) Fa 1
(b) A 2 HT 3
(c) Faer 1 3% 3
(d) 1,2 T8

108. =H UR=8g &l AT a9l FI7 g2
(a) B STATYH SoHl 9T scata HH¥ a9 gu
g
(b) ST TG § FHT ATHT STATIITF &
(c) BH AIEYT ¥ fawm # Haer A1 gr
ey
(d) T T AT SHEA-9efT TaeHT g Ay
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Passage - 4

Six boxes A, B, C, D, E and F have been
painted with six different colours viz., violet,
indigo, blue, green, yellow and orange and
arranged from left to right (not necessarily
either kept or painted with the colours in the
same order). Each box contains a ball of any
one of the following six games: -cricket,
hockey, tennis, golf, football and volleyball
(not necessarily in the same order). The golf
ball is in violet box and is not in the box D.
The box A which contains tennis ball is orange
in colour and is at the extreme right. The
hockey ball is neither in box D nor in box E.
The box C having cricket ball is painted green.
The hockey ball is neither in the box painted
blue nor in the box painted yellow. The box C
is fifth from right and next to box B. The box
B contains volleyball. The box containing the
hockey ball is between the boxes containing
golf ball and volleyball.

109. Which one of the following boxes
contains the golf ball?

(a F
(b) E
(¢ D

(d) None of the above

110. Which of the following statements
is/are correct?
(a) D is painted yellow
(b) F is painted indigo
(c) B is painted blue
(d) All of the above

111. The football is in the box of which
colour?
(@) Yellow
(b) Indigo
(c) Cannot be determined as data is
inadequate
(d) Blue
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112. Four friends, A, B, C and D distribute
some money among themselves in such
a manner that A gets one less than B,
C gets 5 more than D, D gets 3 more
than B. Who gets the smallest amount?
(@) A
(b) B
(c) C
(d) D

113. There are 50 students admitted to a
nursery class. Some students can
speak only English and some can
speak only Hindi. 10 students can
speak both English and Hindi. If the
number of students who can speak
English is 21, then how many students
can speak Hindi, how many can speak
only Hindi and how many can speak
only English?

(@) 21, 11 and 29 respectively

(b) 28, 18 and 22 respectively
(c) 37, 27 and 13 respectively
(d) 39, 29 and 11 respectively

114. The following table shows the marks
obtained by two students in different

subjects:
@ = g =
SE X|EF &
HI A
2% £ =+ G
> B | w =
English 60 | 100 |80 | 150
Psychology | 70 | 100 |70 | 100
History 50 | 100 |60 | 100
Sanskrit 30 50 15 | 25

The difference in the mean aggregate
percentage marks of the students is.

(@) 2.5%
(b) 13.75%
(c) 1.25%
(d) Zero

38



Passage - 4

T: 9961 A, B, C, D, E 3T F &1 5 fafere @y - Sy,
AFTHT, AT, g7, T S AT & [ A g e
Ive a4 | I T AT FHH H @I B (AEFeTF Al (6
Zoft 69 3 T H T AT AT T AW)| TAF T § G
&1 IET H H FIS TF I8 T AT S (AEFLTF Tl 19 2ol
FH H )| TEF &f g AT a9 § g 3fiv ag D 99 §
Tal gl T A F, 5|¥ 2F[e afe g, [ A g &
Fg Il AR F Arqa H @I gl gl g A ar aFq D |
g, et 99 E §| 79 C &7, ooH e v g g, &1
AT 21 BIohT T & ATAT T 7 AT ATd ST H WM, T2l
e 7 7| T C, T ST F Ti=d T 9T g AT a9
B % oW | g1 999 B | AleMiaie gl gt Hf 948 arar
T, T %0l G AT AT AT ATl Tl o6 A H
gl

109. fRufofad & & F19-8 a8 H Mo ¥ 7T 5P
(@ F
(b) E
(c) D

(d) ST & | T T

110. Rufafed ®§ & F91/" 99 951 8/2?
() DI HAME
(b) F AT ST H T
(c) Bfiwr&wraGmg
(d) ST Tt

111. Geaid 68 37 % 999 | 87
(2) e
(b) STEHTT
(c) TS ATATH ZIA % FI0 (Aeifid A5l A7
ST Hehdl
(d) =
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112. =X & A, B, C 3T D 399 § FJ 019 39
g ated 2 [ Tfr AFT B ¥ uF FH, C 1 D
¥ 5 FATET 37T D &1 B & 3 FATaT [Hardt 81 qa4
T LY ey et 29
(a) A
(b) B
(c) C
(d) D

113. TF 940 w47 & 50 fE=ntSay v yaor G
T T AT Fad s a9 g 37
Tg Fad Bedt e g g1 10 FErameff sfsht
e fB=dt a1 9 g gl Jfe 39 et
#T TEAT, ST SRS a7t T 8, 21 8, a7 e
T 3 i Torde hael SRS a1 T 5?2
(a) FHeT: 21, 11 37T 29
(b) FHer: 28, 18 3fi¥ 22
(c) #HeT: 37, 27 3T 13
(d) wwer: 39, 29 #fiT 11

114. xforted qreoft § aamr =@ 8 & 3 gEr =

Fors-Forer Famit # Frrr-Prert s st F,
£} £}
IS 60 100 | 80 | 150

FafsT | 70 | 100 |70 | 100
e 50 | 100 |60 | 100
W 30 50 15 | 25
AT F wTeT gt viaerd ikt § fraar siaw
a?

(a) 2.5%

(b) 13.75%

(c) 1-25%

(d) =
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115.

116.

117.

118.

119.

The following table gives population
and total income of a city for four years:

Year 1992 | 1993 | 1994 | 1995

Populati | 20 21 22 23
on in
lakhs

Income | 1010 | 1111 | 1225 | 1345

mn
Crores

R)

Which one of the following statements

is correct in respect of the above data?

(a) Population increased by 5% or more
every year.

(b) Income increased by 10% or more
every year.

(c) Per capita income was always above
% 5,000.

(d) Per capita income was highest in
1994.

A bell rings every 18 minutes. A second
bell rings every 24 minutes. A third bell
rings every 32 minutes. If all the three
bells ring at the same time at 8 o'clock
in the morning, at what other time will
they all ring together?

(a) 12:40 hrs
(b) 12:48 hrs
(c) 12:56 hrs
(d) 13:04 hrs

A worker reaches his factory 3 minutes
late if his speed from his house to the
factory is 5 km/hr. If he walks at a
speed of 6 km/hr, then he reaches the
factory 7 minutes early.

The distance of the factory from his
house is

(a) 3 km
(b) 4 km
() Skm
(d) 6 km

If the 34 day of a month is Monday,
which one of the following will be the
fifth day from 21st of this month?

(a) Monday

(b) Tuesday

(c) Wednesday

(d) Friday

Two equal glasses of same type are
respectively 1/3 and 1/4 full of milk.
They are then filled up with water and
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120.

121.

122.

the contents are mixed in a pot. What
is the ratio of milk and water in the
pot?

(@) 7:17

(b) 1:3

(c) 9:21

(d) 11:23

In a parking area, the total number of
wheels of all the cars (four-wheelers)
and scooters/ motorbikes = (two-
wheelers) is 100 more than twice the
number of parked vehicles. The
number of cars parked is

(@) 35

(b) 45

(c) S0

(d) 55

The graph below depicts the earnings
of A and B over the period 2000 to
2010:

|
B
i

2007

Years ——>

From the graph, which one of the

following can be concluded?

(a) On the average A earned more than
B during this period.

(b) On the average B earned more than
A during this period.

() The earnings of A and B were equal
during this period.

(d) The earnings of A were less as
compared to B during this period.

1

2010

2000

Two pipes A and B can independently
fill a tank completely in 20 and 30
minutes respectively. If both the pipes
are opened simultaneously, how much
time will they take to fill the tank
completely?

(a) 10 minutes

(b) 12 minutes

(¢) 15 minutes

(d) 25 minutes
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115.

116.

117.

118.

119.

Fferfea oot § uw oge it = aut it
STEEAT ST Fe T T &

Year 1992 | 1993 | 1994 | 1995
Populatio
n in lakhs 20 21 22 23
Income in | 1510 | 11171 | 1205 | 1345
crores (3)

I Sl F dad H Fwfertaa & ¥ #=-ar
T FAT HE 2P

(a) STEEAT | 9T a9 5% AT ATIF I g3 2
(b) 3= ¥ wfw a9 10% =T AfF I < 2

(c) 9T =af~F s gHerm 2 5,000 7 e+ wEr

2l
(d) of =rf<r s 1994 ® gaifers o

UF 5l g7 18 e ¥ aoidl g1 U gE<l Jer
B 24 o 9% Foidl gl TF dradt H5el gv 32
e % Ferdt g1 afe Gt AT SfeAt uw gr
9T | qag 8 a9 aoidl 8, af gAY e 87T
¥ o FHT TF AT T2

(a) 12:40 &t

(b) 12:48 a5t

(c) 12:56 @t

(d) 13:04 &=t

FTe ATHF 99 =¥ & FFedt g 5 AT o
HaT it I F FAH AT Fewet 7 3 e
o & ag=ar g1 Ffe a8 6 Fh.HT. wi et &t
TfT & Fear g, a7 ag FFedr 7 e uger
TeAdT g HEELl | IEH 7 Al L FIT 8P

(a) 3 Fh.H.

(b) 4 f.H.

(c) 5 ..

(d) 6 fr.=.

Tf foFeft wrg &1 T fam JeEe 8, ar 3
ATE #t 214 are 7 ai=at faw et o
H FHF-HT gRIT?

(a) HMHATT

(b) HIAATT

(c) FEr=mT

(d) TFATE

TF ET ThTE o af T0&T Rerm #99: 1/3 37
1/4 g § WX 21 99 3 [amat & QT e a6
T " 9T AT, S e § aY gu o
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120.

121.

122.

(Freror) =7 ek 9 | R R e s e '
T 3T ITHT T AT FT 62

(@) 7:17

(b) 1:3

(c) 9:21

(d) 11:23

ToRET aTiehar & &, FT 10 (AT I12aT aTeA)
Y THei/AET arEfhal (-9 argd) F
iR 1 et FAT, T {0 ATt i He
F T H 100 FATET g1 I T T2 H1T Al dear
FT §?
(@) 35
(b) 45

(c) 50
(d) 55

A T T s (IE) A @R B A
2000 - 2010 SrEfer T IUTSIT f&@TaT 147 &

&

. :
B, '.

2010

2007
a8 ——>

=9 e 7, Awferfaa § 9 #-a1 v ey

Tt ST JhaT g°

(a) T AT F A, HETTTHFATB T
arfers IuTora AT

(b) TH AT & I, FET FTTH B TA
arfers IuThora AT

(c) =T AT o I, A 3 B F IUTSH THH
of

(d) =9 rafd F I, A T IS B % 39T
T AT H FH AT

2000

I A A ST B T ST T SIoT-37mT wer:
20 % 30 fH\e & T 9 9 g1 AR =T A
U AT @i QU S0, q7 2T 1 1 a2 AT
H Ivg TohaT 9T AP

(a) 10 fee

(b) 12 fAwe

(c) 15 fAwe

(d) 25 fa=e
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Consider the following statements
followed by two conclusions:
Statements Some men are great.

Some men are wise.

Men are either great

or wise.

Some men are neither
great nor wise.

Conclusion I

Conclusion II

Which one of the following is correct?
(@) Only conclusion I is valid

(b) Only conclusion II is valid

(c) Both the conclusions are valid

(d) Neither of the conclusions is valid

Consider the following statements:
1. Some claim to have seen UFOs

(Unidentified Flying Objects).

2. Life on other heavenly bodies is
considered to be a possibility.

3. Voyage to space is now an
established fact.

From the above statements, it may be

concluded that

(@) UFOs are heavenly bodies

(b) UFOs are sent from other heavenly
bodies

(c) Some living species in other
heavenly bodies are more intelligent
than man

(d) Nothing definite can be said about
the UFOs

The monthly incomes of Peter and Paul
are in the ratio of 4: 3. Their expenses
are in the ratio of 3: 2. If each saves
26,000 at the end of the month, their
monthly incomes respectively are (in )
(a) 24,000 and 18,000

(b) 28,000 and 21,000
(c) 32,000 and 24,000
(d) 34,000 and 26,000

Two cities A and B are 360 km apart. A
car goes from A to B with a speed of 40
km/hr and returns to A with a speed of
60 km/hr. What is the average speed of
the car?

(@) 45 km/hr

(b) 48 km/hr

(c) 50 km/hr

(d) 55 km/hr
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Two numbers X and Y are respectively
20% and 28% less than a third number
Z. By what percentage is the number Y
less than the number X?

(a) 12%

(b) 10%

(c) 9%

(d) 8%

A cylindrical overhead tank of radius 2
m and height 7 m is to be filled from an
underground tank of size 5.5m x 4m x
6m, How much portion of the
underground tank is still filled with
water after filling the overhead tank
completely?

(@) 1/3

(b) 1/2

(c) 1/4

(d) 1/6

W can do 25% of a work in 30 days, X
can do 1/4 of the work in 10 days, Y
can do 40% of the work in 40 days and
Z can do 1/3 of the work in 13 days.
Who will complete the work first?

() W

(b) X

(© Y

(d) Z

30. P = (40% of A) + (65% of B) and Q =
(50% of A) + (50% of B), where A is
greater than B.

In this context, which of the following
statements is correct?

(a) Pis greater than Q.

(b) Q is greater than P.

(c) Pis equal to Q.

(d) None of the above can be concluded
with certainty.

There is a milk sample with 50% water
in it. If 1/3rd of this milk is added to
equal amount of pure milk, then water
in the new mixture will fall down to

(a) 25%

(b) 30%

(c) 35%

(d) 40%
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125.
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= fRu U FuAt 3w A = R o oar

et 97 A= fifsm:
FA 3G AR TG AW &)

Fa = &A™ g €

ZRE AT 97 dR BId 8 AT

AT

% =A<k 7 97 HeT 84 €, 7 &
AT

e # & i=-ar uF ad) 2

(a) Faa MFT 199 8

(b) Fae Moy 11 99 g

(c) =TT fAeRey Fer &

(d) T H & e oft fewd Jy 91 8

Ao 1

Ao 11

et wa=t o fF=m fifem:

1. F& aRT UFOs (SATHSTT IS4 deaiedr) &7
T I FT ITET Hd Bl

2. gAY @y fOveEt a¥ A &t deradr
HTHT ST 2

3. At ATAT AT UF eT0T a7 g

ST FAAT H, T2 (Ao et S @har §

Ed

(a) UFOs &rei faue g

(b) UFOs 37T @M1 {OveT | 957 ST &

(c) o= =TIy fOvet # T At g eefier
ST F ATF Jrgwe 5

(d) UFOs % ar # % A Afera &7 & 981 Far
ST HehdT

e 3T e i ATTEE o 4:3 F ST | 2
I AT 3: 2 F AATT | &1 AT A1E 6 (T |
T SATh T 6,000 FT T FAT ¢, a7 ST
AT o0 (T ) FHT: FT 52

(a) 24,000 3f¥ 18,000

(b) 28,000 =¥ 21,000

(c) 32,000 3fi¥ 24,000

(d) 34,000 3T 26,000

3T ALY, A ¥ B UH-g8¢ ¥ 360 km Fit T
T 81 TH FX A ¥ B TF 40 km /hr ¥ I 7
ST g 3T 60 km/hr &1 190 & A TF Al
STt g1 1L 0T SEd =T #4752

(@) 45 km/hr

(b) 48 km/hr

(c) 50 km/hr
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(d) 55 km/hr

a7 gty X 3 Y, ey fiedt g Z | e
20% TAT 28% FH 2| AT Y Hear X ¥ fohae
gferera w9 8?

(a) 12%

(b) 10%

(c) 9%

(d) 8%

UF TAATRIE AALge 2ol &I, oraeht Bsar 2
e FAre 7 Mg, 5.5 x4 frx 6 Fram
Freft T iR 2T F S F 91T AT 2
AEATLE Fehl Tl T AL & o 18, AT Sl
T FohaeT 9T 7T & A7 52

(@) 1/3

(b) 1/2

(c) 1/4

(d) 1/6

W, Tt &1 o 25% AT &1 30 fa1 & &ar
T X SE A & 1/4 9 &0 10 &A1 § Fzar
21Y IH FF % 40% ST &7 40 &A1 & Far
g Z3a®d & 1/3 AnT & 13 &= # wear
g1 FT AT qGH Tl I 2T HIT?

(@ W

(b) X

() Y

(d) z

P = (A T 40%) + (B &T 65%) 9T Q = (A
T 50%) + (B FT 50%) gt A, B ¥ 92T
=0 gead ® Mwferera § & f19-97 99 981 8?2
(a) P, Q ¥ FET Rl

(b) Q, P ¥ FET 3l

(c) P, Q F s¥Ta¥ gl

(d) Sk | & #re ot Ao Ao = & 98¢

STt ST TehaT

T % TF T9T H 50% I g1 A% =7 39 HT
1/3 9T SaT gF /AT & [E g8 H ey 9w,
qr T faeror § g v 7 G gfaea T
A EI STTAT?

(@) 25%

(b) 30%

(c) 35%

(d) 40%
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A freight train left Delhi for Mumbai at
an average speed of 40 km/hr. Two
hours later, an express train left Delhi
for Mumbai, following the freight train
on a parallel track at an average speed
of 60 km /hr. How far from Delhi would
the express train meet the freight
train?

(a) 480 km

(b) 260 km

(c) 240 km

(d) 120 km

If for a sample data

Mean < Median < Mode
then the distribution is
(a) symmetric
(b) skewed to the right
(c) neither symmetric nor skewed
(d) skewed to the left

P works thrice as fast as Q, whereas P
and Q together can work four times as
fast as R. If P, Q and R together work
on a job, in what ratio should they
share the earnings?

(@) 3:1:1

(b) 3:2:4

(c) 4:3:4

(d) 3:1:4

Consider the following relationships
among members of a family of six
persons A, B, C, D, E and F:

1. The number of males equals that of

females.

2. A and E are sons of F.

3. D is the mother of two, one boy and
one girl.

4. B is the son of A.

5. There is only one married couple in
the family at present.

Which one of the following inferences

can be drawn from the above?

(a) A, B and C are all females.

(b) A is the husband of D.

(c) E and F are children of D.

(d) D is the daughter of F.

Consider the following:

A, B,C,D,E, F, G and H are standing
in a row facing North.

B is not neighbour of G.
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F is to the immediate right of G and

neighbour of E.

G is not at the extreme end.

A is sixth to the left of E.

H is sixth to the right of C.

Which one of the following is correct in

respect of the above?

(@) Cis to the immediate left of A.

(b) D is immediate neighbour of B and
F.

(c) G is to the immediate right of D.

(d) A and E are at the extreme ends.

In a certain code, '256' means red
colour chalk’, '589' means 'green colour
flower' and '254' means 'white colour
chalk'. The digit in the code that
indicates 'white' is

(a) 2

(b) 4

(c) S

(d) 8

72. In a school, there are five teachers
A, B, C, D and E. A and B teach Hindi
and English. C and B teach English
and Geography. D and A teach
Mathematics and Hindi. E and B teach
History and French. Who teaches
maximum number of subjects?

(a) A

(b) B

() D

(d) E

A 2-digit number is reversed. The larger
of the two numbers is divided by the
smaller one. What is the largest
possible remainder?

(@) 9

(b) 27

(c) 36

(d) 45

A Dbookseller sold 'a’ number of
Geography textbooks at the rate of X x
per book, 'a+2' number of History
textbooks at the rate of X (x+2) per book
and 'a-2' number of Mathematics
textbooks at the rate of ¥(x-2) per book.
What is his total sale in X?

(@) 3x + 3a

(b) 3ax + 8

(c) 9ax

(d) x3a3
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132. UH ATATET fReett ¥ g9 & T 40 km ST
= & T FATA A T 2T gl Ik &l "
TATY UH THFSH Ml Gedt § gag & o,
Tgd YA g5 HIENTET & g91aY 99 97, 60
km T e ¥ $feq =J1er § T@ET gt gl faeet
¥ At @ 9 T MET, ATETET |
et
(a) 480 km
(b) 260km
(c) 240km
(d) 120 km

133. =fe uF yiaest atws & forg
HTET< HITETHT < TG 2,
SIRERERS
(a) TRAT B
(b) FTTRAT & oo &
(c) Ta@ g e afauw g
(d) arfi sie w8

134. P, Q T T § 1 AT AT & F1F FaT &,
STat P 3T Q & a1y fHe®e R &t o1 #
FT AT IS F FF F Tahd g1 T P, Q 3T
R T A1 e ot 1 &7 #i7d &, T S5
A H AIAT AT A R AT H afedt
FTRu?
(@) 3:1:1
(b) 3:2:4
(c) 4:3:4
(d) 3:1:4

135. T: =ARAATA, B, C, D, E 3T F & % qRE™

¥ fwferfaa araet o fa=m fifor:

1. T=OT T e, [ i 91T F aea7 gl

2. ASRE,FF T2l

3. D a1 AREAT, T I ¥ U T 6T 7rar
El

4. B, AF T 2|

5. FAA™ H IRE # Fad U ot fFarigd st
El

s &, fRwfofea ® & #-a1 uF Aeed

=TT ST gar g?

(a) A, B 3T C +ft &1 1

(b) A, D T 9fa &I

(c) E ST F, D #if 5 gl

(d) D, F &7 =T &

136. fwforfea uw A= fifsr:
A, B, C, D, E, F, G 3fiT H ts ufxs § 39¢
#T Y q@ FT G 3l
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B, G FT 9gTHT %1 2

F, G % 31% 374 g 3T E &7 92T 2

G @fq9 BT 1 78T gl

A, E F a3 9§ 2T 8

H, C & a3 T 3T 2

ST F A #, Fwferfaa § ¥ wi9-a71 uF a8t
o)

(a) C, A 3= a4 gl

(b) D, B ¥ F &7 #f*rse T2 2
(c) G, D F &= 34 2

(d) A 37 E sifaw gt aw €

B ST 1= ¥ '256' #7131 o1 1 =91
7, "589' FT A ‘T W FA' g 3T '254' FT
FI' AT T ATH gl 3T KIS H 'THa F 20T
LA ATAT 3 -7 ?

(@) 2

(b) 4

(c) 5

(d) 8

et arsereT ® 9= faretR, A, B, C, D3R E
2l A 3T B @=al T iU 921d &1 C 3T B
SIS SY M 92TT 281 D 3T A TTforq 3
2= 7=Ta 81 E 3T B g & %= = 2
e srter forer i ggrar 82

(a) A

(b) B

(c) D

(d) E

T 2-375h1T T&AT T IRiud F&HaT 73T 3T ar
AT | | T8 T AT i Biel qeat o Farra
TFaT T gETH FHT AU AT 8P

(@ 9

(b) 27

(c) 36

(d) 45

U TEa TeaehdT 7 T x T & ol &% | ST
#T 'a' T a1, 3 (x + 2) T TFa® Hf e J
Tiagre #1 'a + 2' TFa® =l qAT T (x - 2) T
TE T T | 07T AT 'a-2' e+ J41| I
T fashT (2 #) Foraeit 8°

(a) 3x + 3a

(b) 3ax +8

(c) 9ax

(d) x3 a3
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2. Consider the following sum:
ot]etDete3+e]=21]e¢

In the above sum, * stands for
(a) 4

(b) 5

(c) 6

(d) 8

Consider the following pattern of
numbers:

8 10 15 13
6 5 7 4
4 6 8 8
6 11 16 ?
What is the number at? in the above
pattern?
(@ 17
(b) 19
(c) 21
(d) 23

A train 200 metres long is moving at
the rate of 40 kmph. In how many
seconds will it cross a man standing
near the railway line?

(@) 12

(b) 15

(c) 16

(d) 18

Directions for the following 3 (three)
items:

Rotated positions of a single solid are
shown below. The various faces of the
solid are marked with different symbols
like dots, cross and line. Answer the

three items that follow the given
figures.
/ o / X

e L ree "e

U m an) (V)

What is the symbol on the face opposite
to that containing a single dot?

(a) Four dots

(b) Three dots

(c) Two dots
(d) Cross

What is the symbol on the face opposite
to that containing two dots?

(a) Single dot

(b) Three dots

(c) Four dots

(d) Line
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What is the symbol on the face opposite
to that containing the cross?

(a) Single dot

(b) Two dots

(c) Line

(d) Four dots

If RAMON is written as 12345 and
DINESH as 675849, then HAMAM will
be written as

(a) 92233

(b) 92323

(c) 93322

(d) 93232

If Pen < Pencil, Pencil < Book and Book
> Cap, then which one of the following
is always true?

(a) Pen > Cap

(b) Pen < Book

(c) Pencil = Cap

(d) Pencil > Cap

Consider the sequence given below:
4/12/95, 1/1/96, 29/1/96, 26/2/96,
.... What is the next term of the series?
(@) 24/3/96
(b) 25/3/96
(c) 26/3/96
(d) 27/3/96

Twelve equal squares are placed to fit
in a rectangle of diagonal 5 cm. There
are three rows containing four squares
each. No gaps are left between adjacent
squares. What is the area of each
square?

5
(a) - sqcm
(b) g sq cm
() 1 sqcm

02
()1zsqcm
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141. = R w Tt w7 fFEw fifem
o+]e+2e+e3+0]1=21]0

142.

143.

144.

ITATE AN H « e forw 82
(a) 4
(b) 5
(c) 6
(d) 8
TeaTst & fAeferfea afoss o o= fifs:
8 10 15 13
6 5 7 4
4 6 8 8
6 11 16 ?

ST IAeT H? F TH 9¥ HA-H1 &7
AT
(@) 17
(b) 19
(c) 21
(d) 23

200 HeT T U o 40 o Wyo uf =er Fir
T H FA Tl gl LA AT & e @2 fher
Tk &1 A & TR« e | I (TP

(a) 12

(b) 15

(c) 16

(d) 18

Fferfea 3 (dfiw) wertent & foro A

oY e g1 3 i gt (Treee) Rafaat =
ZorE W El 3 & fAfae werh, fae-foer
SetenRt ST faegatl, e T @r g Hiedd gl
feo o ==t % e e AT A e % S9)
s

// o /1 / /) X

M m an) (V)

U & fOeg AT wed & AIT w97 F#4T
T g2

(a) = farg

(b) &1 faeg

(c) &1 fag

(d) wT=
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31 foegell ater %o & oo s 9 F#4T
Tt 8?2

(2) T & farg

(b) i fareg

(c) = farg

(d) vEr

T ATl Feleh o I eleh q% FAT T 1 2
(a) TF & fag

(b) =T faeg

(c) @

(d) = faeg

7fs RAMON # 12345 % &7 § 97
DINESH #T 675849 & &7 # forgT omar g,
ar HAMAM #1 T &9 ¥ forgr srosm?

(a) 92233

(b) 92323

(c) 93322

(d) 93232

Tfe @t < 4T, 9o < [Fdas o1 Faa>
Zrfy, ar Feferfa O & #9-91 tF 929 997
g?

(a) @@t > ardt

(b) TET < TFEAF

(c) forer = ardt

(d) Tf¥rer > It

et swa o= o= i
4/12/95, 1/1/96, 29/1/96, 26/2/96,
... 39 SATHH T FAT I FAT T2

(a) 24/3/96

(b) 25/3/96

(c) 26/3/96

(d) 27/3/96

5 %o HYo Aol % srad # fthe 7w  frw areg
THTA 391 T T@T AT 1 A0 § o ofrat g,
eI H AT A9 &1 [ewead ] avt & fi= w18 fw
T 51 gl T a3 T &% F47 §?

(a) g?ﬂf@ro Hro

(b) 2 7 &o o

(c) 13 o HTo

(d) Z = o e
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Writing Skills Paper - 30 Minutes Writing Skills Paper Maximum Marks - 50
Name: Exam Centre:
ROLL No: Invigilator Signature:

Write essay on the following this 400 — | Rsferf@e X 400-600 ars3i ¥ Rerer forfem

600 words.
When you kill time, time kills you. S o190 q97 T 7€ F2q &, THT ATHT T FAT 2
Or Iqr
1. | A clear conscience fears no  UF TqY Aq:FIO Rt ARIT F AL AT
accusation.

Science for the economic freedom &= wre=ar it s Tad=rar % forw 1
of humanity.

2. Or v
capitalism without competition is  gfdeqet & foAT ISitarE, GSHare 981 gl I8 TH AT
not capitalism. It is a exploitation 2|

ESSAY-1
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N F=T 0 LTSRN ROIINO. it
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